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Hkkjr dk Hkwxksy

 Hkkjr esa i;ZVu LFky
1. fuEufyf[kr esa ls dkSu-lh >hy VsDVkWfud 

xfrfof/k ds ifj.kkeLo:i mRiUu gqbZ\

  (A) dksys: >hy (B) lkaHkj >hy

  (C) fpfydk >hy (D) oqyj >hy

  (E) mÙkj ugha nsuk pkgrs

  Which of the following lakes is the result 

of tectonic activity?

  (A) Kolleru Lake (B) Sambhar Lake

  (C) Chilika Lake (D) Wular Lake

  (E) Not attempted

1. (D) oqyj >hy VsDVkWfud xfrfof/k ds  
ifj.kkeLo:i mRiUu gqbZ gSA d'ehj dh 
oqyj >hy >sye unh ij fLFkr gSA bl 
ij foorZfud fØ;k dk çHkko gSA ;g 
Hkkjr esa ehBs ikuh dh lcls cM+h >hy 
gSA rqycqy ifj;kstuk blh ij fLFkr gSA 
Hkkjr esa dqekÅ fgeky; esa fLFkr vusd 
foorZfud >hysa gSaA

Hkkjrh; jktO;oLFkk ,oa lafo/kku

 fofHkék vk;ksx rFkk ifj"kn~ 
2. fuEufyf[kr esa dkSu-lk@ls 'kCn Hkkjrh; 

lafoèkku dh izLrkouk esa 42osa la'kks/ku }kjk 
1976 esa tksM+s x, Fks\

  (a) lektoknh (b) izHkqRo-lEiUu

  (c) yksdra=kRed (d) iaFkfujis{k

  uhps fn, x, dwV ls lgh fodYi dk p;u dhft,%

  (A) (a) rFkk (d) (B) dsoy (b)

  (C) (a) rFkk (c) (D) (c) rFkk (b)

  (E) mÙkj ugha nsuk pkgrs

  Which of the following words was/were 

added to the Preamble of the Indian 

Constitution in 1976 through the 42nd 

Amendment?

  (a) Socialist (b) Sovereign

  (c) Democratic (d) Secular

  Choose the correct option form the codes 

given below:

  (A) (a) and (d) (B) Only (b)

  (C) (a) and (c) (D) (c) and (b)

  (E) Not attempted

2. (C)	● lektoknh rFkk iaFkfujis{k 'kCn 
Hkkjrh; lafo/kku dh çLrkouk  esa 42osa 
la'kks/ku }kjk 1976 esa tksM+s x, FksA

   ● 42osa la'kks/ku ds ckn] çLrkouk esa 
rhu u, 'kCn ^lektoknh] iaFkfujis{k 
vkSj v[kaMrk* tksM+s x,A bl lafo/kku 
la'kks/ku dks Hkkjrh; bfrgkl ds lcls 
fooknkLin la'kks/kuksa esa ekuk tkrk gS

   ● Hkkjr dk lafo/kku 26 uoacj] 1949 dks 
Hkkjr dh lafo/kku lHkk }kjk viuk;k 
x;k Fkk vkSj ;g 26 tuojh] 1950 
dks ykxw gvkA

Hkkjr dk Hkwxksy

 fofo/k
3. o"kZ 1960 esa xqtjkr vkSj egkjk"Vª uked nks 

u, jkT;ksa dk l`tu djus ds fy, fuEuyf[kr 
esa ls fdl jkT; dks nks Hkkxksa esa ck¡Vk x;k Fkk\

  (A) ukxiqj (B) ckWEcs

  (C) vgenkckn (D) neu

  (E) mÙkj ugha nsuk pkgrs

  Which among the following States in 

1960 was bifurcated to create two new 

States of Gujarat and Maharashtra?

  (A) Nagpur (B) Bombay

  (C) Ahmedabad (D) Daman

  (E) Not attempted

3. (B) ● o"kZ 1960 esa xqtjkr vkSj egkjk"Vª 
uked nks u, jkT;ksa dk l`tu djus 
ds fy, ckWEcs jkT; dks nks Hkkxksa esa ck¡Vk 
x;k Fkk

   ● 1 ebZ] 1960 esa ejkBh ,oa xqtjkrh 
Hkk"kkbZ yksxksa ds chp la?k"kZ ds dkj.k 
eqacbZ jkT; dk c¡Vokjk djds egkjk"Vª 
,oa xqtjkr uked nks jkT;ks a dh 
LFkkiuk dh xbZ FkhA

4. ?kjsyw fgalk ls efgykvksa dk laj{k.k vf/kfu;e] 
2005 ds lUnHkZ esa] fuEufyf[kr esa ls dkSu-lk 
dFku lgh ugha gS\

  (A) ;g vf/kfu;e ;kSu 'kks"k.k dks ?kjsyw fgalk 
dk ,d izdkj ekurk gSA

  (B) ;g vf/kfu;e efgykvksa dh 'kkjhfjd rFkk 
okfpd 'kks"k.k ls lqj{kk djrk gSA

  (C) ;g vf/kfu;e dsoy oSokfgd lEcU/kksa dks 
laj{k.k nsrk gS rFkk ^fyo-bu* lEcU/kksa 
dks dkuwuh laj{k.k ugha nsrkA

  (D) ;g vf/kfu;e vkfFkZd 'kks"k.k dks ?kjsyw 
fgalk dk ,d izdkj ekurk gSA

  (E) mÙkj ugha nsuk pkgrs

  Which among the following statements is 

not correct with regard to the Protection 

of Women from Domestic Violence Act, 

2005?

  (A) Sexual abuse is considered a form 

of domestic violence under the Act.

  (B) The Act protects women from both 

physical and verbal abuse.

  (C) The Act does not extend to 'live-in' 

relationships and only covers marital 

households.

  (D) Economic abuse is considered a form 

of domestic violence under the Act.

  (E) Not attempted

4. (C)	● ?kjsyw fgalk ls efgykvksa dk laj{k.k 
vf/kfu;e] 2005 ds lUnHkZ esa] ;g 
vf/kfu;e dsoy oSokfgd laca/kksa dks 
laj{k.k nsrk gS rFkk ^fyo-bu* lacaèkksa 
dks dkuwuh laj{k.k ugha nsrkA ;g dFku 
lgh ugha gSA

   ● ?kjsyw fgalk ls efgyk laj{k.k vfèkfu;e] 
2005 Hkkjr dh laln }kjk ikfjr ,d 
vf/kfu;e gS ftldk mís'; ?kjsyw fgalk 
ls efgykvksa dks laj{k.k iznku djuk 
gS vkSj ihfM+r efgykvksa dks dkuwuh 
lgk;rk miyC/k djkuk gSA ;g 26 
vDVwcj] 2006 dks ykxw gqvkA

Hkkjrh; vFkZO;oLFkk

 Hkkjr eas cSa¥dx rFkk chek O;oLFkk
5. udn vkjf{kr vuqikr (lh-vkj-vkj-) dks 

fdlds ikl j[kk tkrk gS\

  (A) Hkkjr dk foÙk vk;ksx

`
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  (B) Hkkjr ds fu;a=d vkSj egkys[kk ijh{kd

  (C) Hkkjrh; fjtoZ cSad

  (D) vUrjkZ"Vªh; eqæk dks"k

  (E) mÙkj ugha nsuk pkgrs

  With whom is the Cash Reserve Ratio 

(CRR) kept?

  (A) Finance Commission of India

  (B) Comptroller and Auditor General of 

India

  (C) Reserve Bank of India

  (D) International Monetary Fund

  (E) Not attempted

5. (C)	● udn vkjf{kr vuqikr (lh-vkj-vkj-) 
dks Hkkjrh; fjtoZ cSad ds ikl j[kk 
tkrk gSA

   ● udn vkjf{kr vuqikr (CRR) dqy 
tek dk ,d fo'ks"k çfr'kr gS ftls 
okf.kfT;d cSadksa }kjk vkjf{kr j[kk 
tkuk gksrk gSA blds ikl Hkkjrh; 
fjtoZ cSad dk vf/kns'k gS tks Hkkjrh; 
fjtoZ cSad vf/kfu;e 1934 ds rgr 
udn vkjf{kr vuqikr (CRR) ij 
fu.kZ; ysus dk vf/kdkj j[krk gSA

   ● jsiks jsV og nj gS ftl ij fdlh ns'k 
dk dsaæh; cSad (Hkkjr ds ekeys esa 
vkjchvkbZ) okf.kfT;d cSadksa dks iSlk 
m/kkj nsrk gSA

HkkSfrd foKku

 inkFkks± ds HkkSfrd xq.k

6. dksbZ oLrq 3 lsd.M esa 9 ehVj pyrh gS vkSj 

vxys 5 lsd.M esa 23 ehVj dh nwjh r; djrh 

gSA ml oLrq dh vkSlr xfr D;k gksxh\

  (A) 6 ehVj izfr lsd.M

  (B) 3 ehVj izfr lsd.M

  (C) 4 ehVj izfr lsd.M

  (D) 5 ehVj izfr lsd.M

  (E) mÙkj ugha nsuk pkgrs

  An object travels 9 metres in 3 seconds 

and then another 23 metres in 5 seconds. 

What is the average speed of the object?

  (A) 6 m/s (B) 3 m/s

  (C) 4 m/s (D) 5 m/s

  (E) Not attempted

6. (C)  dqy nwjh ¾ 9 + 23 ¾ 32

    dqy le; ¾ 3 + 5 ¾ 8
   vkSlr xfr ¾ dqy nwjh@dqy le; 
                     ¾ 32/8 

               ¾ 4 eh-@ls-

tho foKku

 dksf'kdk ,oa Ård
7. ,fidy esfjLVse ds ckjs esa fuEufyf[kr esa ls 

dkSu-lk@ls dFku lgh gS@gSa\

  (a) ;g rus rFkk tM+ ds c<+rs gq, fljksa ij 
gksrk gS vkSj rus rFkk tM+ dh yEckbZ dks 
c<+krk gSA

  (b) bldh otg ls rus vFkok tM+ dk ?ksjk 
c<+rk gSA

  (c) ;g dqN ikS/kksa esa xk¡B (uksM) ds ikl ik;k 
tkrk gSA

  uhps fn, x, dwV ls lgh fodYi dk p;u 
dhft,%

  (A) dsoy (c) (B) (a) rFkk (b)

  (C) (b) rFkk (c) (D) dsoy (a)

  (E) mÙkj ugha nsuk pkgrs

  Which of the following statements is/are 

correct about Apical Meristem?

  (a) It is present at the growing tips of 

stems and roots and increases the 

length of the stems and the root.

  (b) Due to this the girth of the stem or 

root increases.

  (c) It is seen in some plants and located 

near the node.

  Choose the correct option from the codes 

given below:

  (A) Only (c) (B) (a) and (b)

  (C) (b) and (c) (D) Only (a)

  (E) Not attempted

7. (D)	● ,fidy esfjLVse ds ckjs esa dFku ;g 
rus rFkk tM+ ds c<+rs gq, fljksa ij 
gksrk gS vkSj rus rFkk tM+ dh yackbZ 
dks c<+krk gSA lgh gSA

   ● 'kh"kZ foHkkT;ksÙkd (Apical meristem): 

;g ÅÙkd ikni ds 'kh"kZ Hkkx vkSj tM+ksa 
dh dksf'kdkvksa esa ik;k tkrk gSA

   ● ;g mÙkd ikS/ks dh ^çkFkfed o`f¼* ds 
fy, mÙkjnk;h gksrk gS rFkk bl Ård 
dk fuekZ.k çkFkfed foHkT;ksfrdh ds  
}kjk gksrk gSA   

foKku vkSj izkS|ksfxdh

 tSo izkS|ksfxdh
8. ,d Vh Vh ih ,l (HTTPS) -------------- dk 

ifjo.khZ 'kCn gS ftldks laosnu'khy tkudkjh 
Mkyrs le; mi;ksx fd;k tkuk pkfg,A

  (A) gk;ij VSDLV VªkalQj izksVksdkWy lhDosUl

  (B) gk;ij VSDLV VªkalQj izksVksdkWy lsD;ksj

  (C) gk;ij VSDLV Vªkalfe'ku izksVksdkWy lsD;ksj

  (D) gk;ij VSDLV Vªkalfe'ku izksVksdkWy lhDosUl

  (E) mÙkj ugha nsuk pkgrs

  HTTPS is and acronym for ............. which 

should be used while entering sensitive 

information.

  (A) Hyper Text Transfer Protocol 

Sequence

  (B) Hyper Text Transfer Protocol Secure

  (C) Hyper Text Transmission Protocol 

Secure

  (D) Hyper Text Transmission Protocol 

Sequence

  (E) Not attempted

8. (B) ● ,p Vh Vh ih ,l (HTTPS)µ 
gkbijVsDLV VªkalQj çksVksdkWy lsD;ksj 
dk ifjo.khZ 'kCn gS ftldks laosnu'khy 
tkudkjh Mkyrs le; mi;ksx fd;k 
tkuk pkfg,A

   ● HTTPS ,pVhVhih dk ,Mok al 
Version gksrk gSA ;g Http ls cgqr gh 
flD;ksj gksrk gSA vkt dy cgqr ls 
osclkbV blh çksVksdkWy dk bLrseky 
djrs gSaA Https dk mi;ksx djus ds 
fy, fdlh Hkh osclkbV dks SSL 

Certi昀椀cate dh vko';drk gksrh gSA

9. ml lkWfV±x vFkok oxhZdj.k izfØ;k dk uke D;k 
gS tks rRoksa dh nh gqbZ ,d lwph dks lkWVZ djus 
vkSj Øe esa u gksus ij mudh vnyk-cnyh ls 
lanfHkZr gS\

  (A) MhD;w (MSd) (B) flysD'ku lkWVZ

  (C) bul'kZu lkWVZ (D) ccy lkWVZ

  (E) mÙkj ugha nsuk pkgrs

  What is the name of the sorting method 

that refers to sorting a given list of 

elements and swapping them if they are 

unordered?

  (A) Deque (B) Selection Sort

  (C) Insertion Sort (D) Bubble Sort

  (E) Not attempted

9. (D) ● ml lkWfVaZx vFkok oxhZdj.k çfØ;k 

dk uke ccy lkWVZ gS tks rÙoksa dh nh 

gqbZ ,d lwph dks lkWVZ djus vkSj muds 

Øe esa u gksus ij mudh vnyk-cnyh 

ls lanfHkZr gSA

   ● ccy lkWVZ dks ckj-ckj oxhZÏr djus 

ds fy, lwph dh vko';drk gksrh gS] 

vklUu oLrqvksa dh çR;sd tksM+h dh 

rqyuk djrk gS vkSj ;fn os xyr Øe 
esa gSa rks mUgsa cny nsrk gSA 
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10. fuEufyf[kr esa ls dkSu-lk usVodZ midj.k MsVk 
iSdsV ls xarO; irk (,Mªsl) fudkyrk gS vkSj 
bls ,d rkfydk esa ns[krk gS fd iSdsV dks dgk¡ 
Hkstk tk, vkSj dsoy fu/kkZfjr midj.kksa dks 
flXuy Hkstrk gS\

  (A) xsVos (B) gc

  (C) fLop (D) :Vj

  (E) mÙkj ugha nsuk pkgrs

  Which of the following network device 

extracts the destination address from the 

data packet and looks it up in a table to 

see where to send the packet and sends 

signals only to selected devices?

  (A) Gateway (B) Hub

  (C) Switch (D) Router

  (E) Not attempted

10. (B) gc usVodZ midj.k MsVk iSdsV ds xUrO; 
irk (,Mªsl) fudkyrk gS vkSj bls ,d 
rkfydk esa ns[krk gS fd iSdsV dks dgk¡ 
Hkstk tk, vkSj dsoy fu/kkZfjr midj.kksa  
dks flXuy Hkstrk gSA

11. fuEufyf[kr esa ls fdl fodYi esa fn, x, 
lHkh midj.k dEI;wVj ls lwpuk izkIr djus 
(vkmViqV) ds dke vkrs gSa\

  (A) ¶ySV iSuy fMLIys] IykWVj] ckjdksM 
LdSuj

  (B) ystj fizUVj] vkWfIVdy dsjsDVj jhMj] 
IykWVj

  (C) ystj fizUVj] badtsV fizUVj] LdSuj

  (D) ,y bZ Mh fMLIys ekWuhVj] badtsV fizUVj] 
IykWVj

  (E) mÙkj ugha nsuk pkgrs

  Which of the following options lists all 

devices used for output from a computer?

  (A) Flat panel display, Plotter, Barcode 
scanner

  (B) Laser printer, Optical character 
reader, Plotter

  (C) Laser printer, Inkjet printer, Scanner

  (D) LED display monitor, Inkjet printer, 
Plotter

  (E) Not attempted

11. (D) ,y-bZ-Mh- fMLIys ekWuhVj] badtSV fizUVj 
IykWVj ;s lHkh midj.k dEI;wVj dh 
lwpuk izkIr djus (vkmViqV) ds dke 
vkrs gSaA

lelkef;dh
12. ^fo'o vkstksu fnol] 2022* dh fo"k;-oLrq 

D;k gS\

  (A) ^fnYyh izksVksdkWy @ 30 : thou laj{k.k 
ds fy, oSf'od lg;ksx*

  (B) ^fjvks izksVksdkWy @ 36 : vkstksu laj{k.k 
ds fy, oSf'od lg;ksx*

  (C) ^ikfjfLFkfrdh ds laj{k.k ds fy, ekWfUVª;y 
izksVksdkWy*

  (D) ^ekWfUVª;y izksVksdkWy @ 35 : i`Foh ij 
thou laj{k.k ds fy, oSf'od lg;ksx*

  (E) mÙkj ugha nsuk pkgrs

  What is the theme of the 'World Ozone 

Day', 2022?

  (A) 'Delhi Protocol @ 30 : Protection of 

Life through Global Cooperation'

  (B) 'Rio Protocol @ 36 : Global 

Cooperation for Protection of ozone;

  (C) 'Montreal Protocol for Protection of 

Ecology'

  (D) 'Montreal Protocol @ 35 : Global 

Cooperation Protecting Life on 

Earth'

  (E) Not attempted

12. (D)	●	 ^fo'o vkstksu fnol 2022* dh 
fo"k; oLrq 'Global Cooperation 

Protecting life on Earth' (i`Foh ij 
thou laj{k.k ds fy, oSf'od lg;ksx) 
(Fkhe) gSA

   ● la;qä jk"Vª vkSj mlds lnL; 45 ns'kksa 
us vkstksu ijr dks {kfr igq¡pkus okys 
inkFkks± esa deh ykus ds fy, ekWfUVª;y 
çksVksdkWy ij 16 flracj] 1987 dks 
gLrk{kj fd, FksA blds ckn ls gh 16 
flrcj] 1995 ls fo'o vkstksu fnol 
euk, tkus dh 'kq#vkr gqbZ vkSj blds 
ckn ls gj lky ;g 15 flrEcj ds 
fnu euk;k tkrk gSA

13. fuEufyf[kr esa ls fdl ns'k us ̂ O;kikj djus dh 
ljyrk* ds lwpdkad ij lu~ 2021 esa mPpre 
LFkku izkIr fd;k gS\

  (A) iqrZxky (B) Hkkjr

  (C) phu (D) U;wthySaM

  (E) mÙkj ugha nsuk pkgrs

  Which among the following countries 

ranked the highest on the 'Ease of Doing 

Business' Index in 2021?

  (A) Portugal (B) India

  (C) China (D) New Zealand

  (E) Not attempted

13. (D)	● U;wthySaM ns'k us ^O;kikj djus dh 
ljyrk* ds lwpdkad ij lu~ 2021 
esa mPpre LFkku çkIr fd;k gSA

   ● Hkkjr uokpkj lwpdkad  ns'k ds uokpkj 
ikfjfLFkfrdh ra= ds ewY;kadu vkSj 
fodkl gsrq O;kid midj.k gSA

   ● ;g jkT;ksa vkSj dsaæ'kkflr çns'kksa dks 
muds chp LoLFk çfrLi¼kZ fodflr 
djus ds fy;s muds uokpkj çn'kZu 
ij jSad çnku djrk gSA

14. 'ka?kkbZ lg;ksx laxBu (,l-lh-vks-) lnL; 
jkT;ksa ds vfHk;kstd tujy dh 23 flrEcj] 
2022 dks lEiUu gks pqdh 20oha cSBd dgk¡ 
vk;ksftr dh xbZ Fkh\

  (A) vLrkuk (B) VksD;ks

  (C) rk'kdan (D) dho

  (E) mÙkj ugha nsuk pkgrs

  Where was the 20th meeting of Prosecutors-

General of the Shanghai Cooperation 

Organisation (SCO) Member States held 

on 23rd September, 2022?

  (A) Astana (B) Tokyo

  (C) Tashkent (D) Kiew

  (E) Not attempted

14. (A)	● 'ka?kkbZ lg;ksx laxBu (,l-lh-vks-) 
lnL; ns'kksa ds vfHk;kstd tujy 
dh 23 flrEcj] 2022 dks laiUu 
gksus okyh 20oha cSBd dtkfdLrku 
ds vLrkuk es vk;ksftr dh xbZ FkhA

   ● fof/k ,oa U;k; ea=ky; ds fof/k dk;Z 
foHkkx esa vfrfjä lfpo MkW- vatw jkBh 
jk.kk us 8 vkSj 13 flracj] 2022 dks 
'ka?kkbZ lg;ksx laxBu (,llhvks) ds 
lnL; ns'kksa ds vfHk;kstd tujy 
dh 20oha cSBd ds fy, xfBr fo'ks"kK 
lewg dh cSBd esa Hkkx fy;k FkkA

lkekU; Kku fofo/k

 Hkkjr ,oa fo'o esa izFke iq#"k
15. fuEufyf[kr ns'kksa esa ls efgykvksa dks ernku dk 

vf/kdkj nsus okyk vfUre ns'k dkSu-lk Fkk\

  (A) lÅnh vjc (B) phu

  (C) ikfdLrku (D) eSfDldks

  (E) mÙkj ugha nsuk pkgrs

  Among the following countries, which 

was the last country to give voting rights 

to women?

  (A) Saudi Arabia (B) China

  (C) Pakistan (D) Mexico

  (E) Not attempted

15. (A)	● efgykvksa dks ernku dk vf/kdkj nsus 

okyk vafre ns'k lÅnh vjc FkkA

   ● U;wthySaM nqfu;k dk igyk Lora= jk"Vª 

Fkk ftlesa lHkh efgykvksa dks oksV nsus 

dk vf/kdkj fn;k FkkA
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   ● Hkkjr us igyh ckj o"kZ 1935 esa 

efgykvksa ds fy, ernku ds vf/kdkj 

dks fn;k FkkA

   ● ysfdu ;g dsoy mu efgykvksa ds fy, 

tks fof'k"V 'kSf{kd ;ksX;rk j[krh FkhaA 

Hkkjr esa lkoZHkkSfed erkf/kdkj dh 

vuqefr 1950 dks nh xbZ FkhA

gfj;k.kk lkekU; Kku

 gfj;k.kk dh dyk ,oa laLÏfr
16. gfj;k.kk esa izpfyr ^[kksfM+;k* izfl¼ u`R; :i 

dk vk;kstu izeq[k :i ls fdl volj ij 
fd;k tkrk gS\

  (A) lkou ekg esa

  (B) gksyh ds R;ksgkj ij

  (C) cPps ds tUe ij

  (D) fookg ds volj ij

  (E) mÙkj ugha nsuk pkgrs

  On which occasion is 'Khoriya', the 

famous dance form of Haryana most 

commonly performed?

  (A) In the month of Saawan

  (B) During Holi

  (C) On child birth

  (D) On the occasion of marriage

  (E) Not attempted

16. (D)	●	 gfj;k.kk esa çpfyr ^[kksfM+;k* çfl¼ 
u`R; :i dk vk;kstu çeq[k :i ls 
fookg ds volj ij fd;k tkrk gSA

   ● ;g u`R; yM+ds ds fookg ds volj 
ij efgykvksa }kjk ckjkr ds çLFkku ds 
ckn fd;k tkrk gSA uoo/kw ds vkxeu 
rd oj i{k dh fL=;ksa }kjk jkr Hkj 
tkxdj [kksfM+;k u`R; fd;k tkrk gSA

17. gfj;k.kk ds fdl u`R; :i dks ̂ gfj;k.koh fxn~nk* 
ds uke ls Hkh tkuk tkrk gS\

  (A) jrokbZ (B) Lokax

  (C) xqXxk (D) >wej

  (E) mÙkj ugha nsuk pkgrs

  Which dance form of Haryana is known 

as 'Haryanvi Gidda'?

  (A) Ratwai (B) Swang

  (C) Gugga (D) Jhumar

  (E) Not attempted

17. (D)	● gfj;k.kk ds >wej ùR; :i dks ̂ gfj;k.koh  
fxík* ds uke ls Hkh tkuk tkrk 
gS Þ>wejß uked ,d vkHkw"k.k dks 
igudj fd;k tkus okyk ;g u`R;] 
gfj;k.kk ds yksdfç; yksd u`R;ksa esa 
ls ,d gSA

   ● ;g ikjaifjd u`R; fo'ks"k :i ls mu 
;qok yM+fd;ksa }kjk fd;k tkrk gS tks 
fookfgr gSaA bl u`R; dks <ksyd vkSj 
Fkkyh tSls ok| ;a=ksa dh /kqu ij fd;k 
tkrk gSA dykdkj xguksa ds lkFk-lkFk 
jax-fcjaxs ifj/kkuksa esa ltrs-laojrs gSaA

18. xqXxk uoeh dk R;ksgkj iwjs gfj;k.kk esa -------- 
euk;k tkrk gSA

  (A) QkYxqu ds paæekl esa

  (B) dkfrZd ds paæekl esa

  (C) Hkknks ds paæekl esa

  (D) Jko.k ds paæekl esa

  (E) mÙkj ugha nsuk pkgrs

  Gugga Naumi festival is celebrated all 

over Haryana in ............. .

  (A) the lunar month of Phalgun

  (B) the lunar month of Kartik

  (C) the lunar month of Bhadon

  (D) the lunar month of Shravan

  (E) Not attempted

18. (C)	●	xqXxk uoeh dk R;ksgkj iwjs gfj;k.kk esa 
Hkknksa ds paæekl eas euk;k tkrk gSA ;g 
ioZ gj lky Hkkæin ekg ds Ï".k i{k 
dh uoeh frfFk ds fnu euk;k tkrk 
gSA

   ● bl fnu xksxknso ;kuh Jh tkgjohj 
dk tUeksRlo cM+s gh /kwe/kke ls euk;k 
tkrk gSA bl fnu ukxksa dh iwtk dh 
tkrh gSA ,slh ekU;rk gS fd xksxk nso 
dh iwtk djus ls lk¡iksa ls j{kk gksrh 
gSA ,d fdaonarh ds vuqlkj xksxk nso 
dk tUe uoeh ds fnu ukFk laçnk; ds 
;ksxh xksj{kukFk ds vk'khokZn ls gqvk FkkA

   ● xksxk nso dh iwtk Jko.kh iwf.kZek ls 
vkjaHk gks tkrh gS rFkk ;g iwtk-ikB 
9 fnuksa rd pyrk gS ;kuh uoeh frfFk 
rd xksxk nso dk iwtu fd;k tkrk gSA

 gfj;k.kk dh HkkSxksfyd fLFkfr
19. gfj;k.kk dk iwohZ ns'kkarj foLrkj gS%

  (A) 71°28' ls 77°36'

  (B) 70°28' ls 77°36'

  (C) 74°27'8" ls 77°36'5"

  (D) 77°28' ls 84°38'

  (E) mÙkj ugha nsuk pkgrs

  The East longitude extent of Haryana is:

  (A) 71°28' to 77°36'

  (B) 70°28' to 77°36'

  (C) 74°27'8" to 77°36'5"

  (D) 77°28' to 84°38'

  (E) Not attempted

19. (C)	●	 gfj;k.kk dk iwohZ ns'kkarj foLrkj % 
74°28'8" iwoZ ls 77°36'5" gS gfj;k.kk  
mÙkj Hkkjr esa fLFkr ,d LFky#¼ 
jkT; gSA bldk foLrkj 27°39' mÙkj 
ls 30°55' mÙkj rd ds v{kka'kksa rd] 
vkSj 74°28' iwoZ ls 77°36' iwoZ rd 
ds ns'kkUrjksa rd gSA

   ● jkT; dh lhek;sa mÙkj esa iatkc vkSj 
fgekpy çns'k rFkk nf{k.k ,oa if'pe 
esa jktLFkku ls tqM+h gqbZ gSaA mÙkj çns'k 
jkT; ds lkFk bldh iwohZ lhek dks 
;equk unh fu/kkZfjr djrh gSA gfj;k.kk  
jk"Vªh; jkt/kkuh {ks= fnYyh dks Hkh 
rhu vksj ls ?ksjs gq, gSA 

   ● jkT; dk {k s=Qy 44,212 ox Z 
fdyksehVj gS] tk s ns'k ds dqy 
HkkSxksfyd {ks=Qy dk 1.4 çfr'kr gS] 
vkSj bl çdkj {ks=Qy ds vk/kkj ij 
;g Hkkjr dk chl ok¡ lcls cM+k jkT; 
gSA

   ● leqæ ry ls gfj;k.kk dh Å¡pkbZ 700 
ls 3600 QhV (1200 ehVj ls 1200 
ehVj) rd gSA

20. i;ZVdksa dk vkd"kZ.k {ks= eksjuh fgYl] gfj;k.kk  
ds fdl ftys esa fLFkr gS\

  (A) p[khZ nknjh (B) iapdqyk

  (C) than (D) vackyk

  (E) mÙkj ugha nsuk pkgrs

  Morni Hills, a tourist attraction point, is 

situated in which district of Haryana?

  (A) Charkhi Dadri (B) Panchkula

  (C) Jind (D) Ambala

  (E) Not attempted

20. (B) ● i;ZVdksa dk vkd"kZ.k {ks= eksjuh fgYl] 
gfj;k.kk ds iapdqyk ftys esa fLFkr gS 
eksjuh fgYl iapdqyk ftys esa fLFkr 
,d xk¡o vkSj i;ZVd LFky gSA ;g 
iapdqyk 'kgj ls 35 fdeh nwj gS vkSj 
fgeky;h n`';ksa] ouLifr;ksa vkSj >hyksa 
ds fy, tkuk tkrk gSA

   ● eksjuh fgYl dk uke ,d jkuh ls 
fudyk Fkk ftlus ,d ckj bl {ks= ij 
'kklu fd;k FkkA eksjuh fgYl fgeky; 
dh f'kokfyd jsat dk ,d Hkkx gS] tks 
nks lekukarj Js.kh esa pyrh gSaA

21. jktho xka/kh v{k; ÅtkZ ikdZ gfj;k.kk esa dgk¡ 
fLFkr gS\

  (A) lksuhir (B) ikuhir

  (C) xq#xzke (D) Qjhnkckn

  (E) mÙkj ugha nsuk pkgrs
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  Where is the Rajiv Gandhi Renewable 

Energy Park situated in Haryana?

  (A) Sonipat (B) Panipat

  (C) Gurugram (D) Faridabad

  (E) Not attempted

21. (C)	●	 jktho xka/kh v{k; ÅtkZ ikdZ gfj;k.kk  
esa xq#xzke es fLFkr gS Hkkjr dsoy 
phu (136 xhxkokV) vkSj vesfjdk 
(43 xhxkokWV) ls ihNs jgrs gq, 15-4 
xhxkokWV ds lkFk 2021 es a dqy 
uohdj.kh; ÅtkZ {kerk o`f¼ ds fy, 
fo'o Lrj ij rhljs LFkku ij gSA

   ● v{k; ÅtkZ fnol (Akshay Urja 

Diwas) dh 'k q#vkr 2004 e s a 
uohdj.kh; ÅtkZ lzk sr ea=ky; 
(Indian Ministry for New & 

Renewable Energy Sources) }kjk 
dh xbZ FkhA ck;ksxSl] lkSj ÅtkZ] iou 
ÅtkZ] tyfo|qr ÅtkZ tSlh ÅtkZ 
v{k; ÅtkZ ds dqN mnkgj.k gSaA

   ● jktLFkku lkSj ÅtkZ mRiknu vkSj ns'k 
esa dqy v{k; ÅtkZ mRiknu dk lcls 
cM+k mRiknd gS] blds ckn 118208 
esxkokV mRiknu {kerk ds lkFk tEew 
vkSj d'ehj nwljs vkSj 74500 esxkokV 
v{k; ÅtkZ dk mRiknu djds egkjk"Vª 
rhljs LFkku ij gSA

22. gfj;k.kk esa vjkoyh dh igkfM+;ksa dk lcls 
Å¡pk {ks= gSµ

  (A) esokr dh igkfM+;k¡ (esokr fgYl)

  (B) /kkslh dh igkfM+;k¡ (/kkslh fgYl)

  (C) djksg pksVh (djksg ihd)

  (D) fVijk dh igkfM+;k¡ (fVijk fgYl)

  (E) mÙkj ugha nsuk pkgrs

  The highest elevated area of the Aravalli 

hills in Haryana is:

  (A) Mewat Hills (B) Dhosi Hills

  (C) Karoh Peak (D) Tipra Hills

  (E) Not attempted

22. (B)	●	 gfj;k.kk esa vjkoyh dh igkfM+;ksa dk 
lcls Å¡pk {ks= /kkslh dh igkfM+;k¡ 
(èkkslh fgYl) gSaA

   ● gfj;k.kk esa vjkoyh igkM+h {ks= dk 
lcls Å¡pk LFkku ukjukSy ds lehi 
dqyrktiqj xk¡o esa fLFkr gS] tks 652 
eh- Å¡pk gS ftls /kkslh dh igkfM+;k¡ 
ds uke ls tkuk tkrk gSA

 gfj;k.kk dh jktO;oLFkk
23. gfj;k.kk yksd lsok vk;ksx dh LFkkiuk dc gqbZ\

  (A) 1968 (B) 1965

  (C) 1966 (D) 1967

  (E) mÙkj ugha nsuk pkgrs

  When was the Haryana Public Service 

Commission established?

  (A) 1968 (B) 1965

  (C) 1966 (D) 1968

  (E) Not attempted

23. (C)	●	 gfj;k.kk yksd lsok vk;ksx dh LFkkiuk 
1 uoEcj 1966 dks gqbZA

   ● Hkkjr ljdkj vf/kfu;e] 1919 dh 
èkkjk 96 (lh) ds çko/kkuksa vkSj 1924 
esa yh vk;ksx dh flQkfj'kksa ds ckn] 
1 vDVwcj] 1926 dks Hkkjr esa igyh 
ckj yksd lsok vk;ksx dh LFkkiuk dh 
xbZ FkhA

   ● ykWMZ eSdkys dks Hkkjrh; yksd lsokvksa 
dk tud dgk tkrk gSA

24. gfj;k.kk ds izFke yksdk;qDr dkSu gSa\

  (A) ckcw ijekuan

  (B) jathr dqekj

  (C) uoy fd'kksj vxzoky

  (D) izhre iky

  (E) mÙkj ugha nsuk pkgrs

  Who	is	the	昀椀rst	Lokayukta	of	Haryana?
  (A) Babu Parmanand

  (B) Ranjeet Kumar

  (C) Nawal Kishore Agarwal

  (D) Pritam Pal

  (E) Not attempted

24. (D) ● gfj;k.kk ds çFke yksdk;qä çhre iky 

gSA

   ● gfj;k.kk yksdk;qä vf/kfu;e] 2002ß 

jkT; esa 27 tuojh] 2003 dks ykxw 

gqvk vkSj tfLVl Jh çhreiky (iwoZ 

tt iatkc ,oe~ gfj;k.kk gkbZ dksVZ) 

18 tuojh] 2011 dks gfj;k.kk ds u;s 

yksdk;qä fu;qä fd;s x;s FksA

25. foÙkh; o"kZ 2022-23 ds gfj;k.kk jkT; ctV 
esa Ïf"k ds {ks= esa O;; ds fy, dqy ctV dk 
fdruk izfr'kr fu/kkZfjr fd;k x;k gS\

  (A) 9.8% (B) 6.2%

  (C) 5.7% (D) 4.3%

  (E) mÙkj ugha nsuk pkgrs

  What percentage of its total expenditure 

has been allocated towards Agriculture 

in	Haryana	State	Budget	for	the	昀椀nancial	
year 2022-23?

  (A) 9.8% (B) 6.2%

  (C) 5.7% (D) 4.3%

  (E) Not attempted

25. (D)	● foÙkh; o"kZ 2022-23 ds gfj;k.kk jkT; 
ctV esa Ïf"k ds {ks= esa O;; ds fy, 
dqy ctV dk 4.3 çfr'kr fu/kkZfjr 
fd;k x;k gSA

   ● gfj;k.kk jkT; ctV ds foÙkh; o"kZ 
2022-23 esa dqy ctV dk 14.2 
çfr'kr f'k{kk ds {ks= esa O;; gsrq 
fuèkkZfjr fd;k x;k gSA

   ● gfj;k.kk ds eq[;ea=h Jh euksgj yky 
[kêj us 8 ekpZ] 2022 dks foÙkh; o"kZ 
2022-23 ds fy, jkT; dk ctV is'k 
fd;k FkkA

 gfj;k.kk dh vFkZO;oLFkk
26. gfj;k.kk vkfFkZd losZ{k.k (2021-22) ds vuqlkj 

gfj;k.kk esa dqy fdrus mi-dks"kkxkj gSa\
  (A) 74 (B) 23

  (C) 82 (D) 92

  (E) mÙkj ugha nsuk pkgrs

  How many Sub-Treasuries are there 

in Haryana according to the Haryana 

Economic Survey (2021-22)?

  (A) 74 (B) 23

  (C) 82 (D) 92

  (E) Not attempted

26. (C) ● gfj;k.kk vkfFkZd losZ{k.k (2021-22) 
ds vuqlkj gfj;k.kk esa dqy 82 mi-

dks"kkxkj gSaA
   ● gfj;k.kk vkfFkZd losZ{k.k (2021-22) 

ds vuqlkj gfj;k.kk esa dqy 24 ftyk 
Lrjh; dks"kkxkj gSaA dks"kkxkj jkT; ds 
lesfdr /ku vkSj lkoZtfud [kkrksa ls 
lacaf/kr lHkh çkfIr;ksa vkSj Hkqxrkuksa ds 
[kkrksa dk j[kj[kko djrs gSaA

27. vkfFkZd losZ{k.k (2020-21) ds vuqlkj gfj;k.kk 
dh izfr O;fDr okf"kZd vk; fdruh gS\

  (A) `2,35,707 (B) `1,85,630

  (C) `1,90,950 (D) `2,90,630

  (E) mÙkj ugha nsuk pkgrs

  What is the per-capita annual income of 

Haryana as per Economic Survey (2020-

21)?

  (A) `2,35,707 (B) `1,85,630

  (C) `1,90,950 (D) `2,90,630

  (E) Not attempted

27. (A) ● vkfFk Zd los Z{k.k (2020-21) ds 
vuqlkj gfj;k.kk dh çfr O;fä okf"kZd 
vk; `2]35]707 gSA çfr O;fä vk; 
(Per capita income) fdlh ns'k] 
jkT;] uxj] ;k vU; {ks= esa jgus 
okys O;fä;ksa dh vkSlr vk; gksrh gSA 
bldk vuqeku ml {ks= esa jgus okys 
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lHkh yksxksa dh vk; ds tksM+ dks {ks= 
dh dqy tula[;k ls foHkkftr djds 
yxk;k tkrk gSA

 jkT; esa feV~Vh] Ïf"k ,oa i'kqikyu
28. gfj;k.kk dh dqy Hkwfe dk fdruk izfr'kr Ïf"k 

ds vUrxZr vkrk gS\
  (A) 81% (B) 70%

  (C) 76% (D) 77%

  (E) mÙkj ugha nsuk pkgrs

  What percentage of the total land in 

Haryana comes under agriculture?

  (A) 81% (B) 70%

  (C) 76% (D) 77%

  (E) Not attempted

28. (B)	● gfj;k.kk dh dqy Hkwfe dk 70 çfr'kr 
Ïf"k ds varxZr vkrk gSA gfj;k.kk 
Hkkjr ds ldy Ïf"k {ks= ds vkèkkj ij 
Hkkjr ds vfxz.kh jkT;ksa esa ls ,d gSA 
gfj;k.kk esa fofHkUu izdkj dh Qlyksa 
dk mRiknu gksrk gSA gfj;k.kk dh 
eq[; Qly xsgw¡ gSA ftlds mRiknu 
esa gfj;k.kk dk LFkku mÙkj izns'k] e/; 
izns'k] iatkc ds ckn pkSFkkLFk gSA

 jkT; esa ouLifr ,oa ou
29. ukgj oU;tho vHk;kj.; gfj;k.kk ds fdl 

ftys esa fLFkr gS\

  (A) egsaæx<+ (B) Qjhnkckn

  (C) jsokM+h (D) uwg (esokr)

  (E) mÙkj ugha nsuk pkgrs

  Nahar Wildlife Sanctuary is situated in 

which district of Haryana?

  (A) Mahendragarh (B) Faridabad

  (C) Rewari (D) Nuh (Mewat)

  (E) Not attempted

29. (C) ● ukgj oU;tho vHk;kj.; gfj;k.kk ds 
jsokM+h ftys esa fLFkr gSA ;g gfj;k.kk 
jkT; ds izeq[k oU;tho vHk;kj.;ksa esa 
ls ,d gSA ;g vHk;kj.; 522 ,dM+ ds 
{ks= esa QSyk gqvk gSA ;g {ks= nqtkuk 
ds uokc dh iqjkuh pjkxkg Hkwfe gqvk 
djrh FkhA

 izeq[k O;fDrRo
30. iatks[kjk lkfgc xq#}kjk (vEckyk) ----------- dh 

Le`fr dks lefiZr gSA

  (A) xq# Jh gjfd'ku lkfgc th

  (B) xq# gjxksfcan

  (C) xq# rsx cgknqj

  (D) xq# xksfcan flag

  (E) mÙkj ugha nsuk pkgrs

  Panjokhra Sahib Gurudwara (Ambala) is 

dedicated to the memory of ............ .

  (A) Guru Sri Harkishan Sahib ji

  (B) Guru Hargobind

  (C) Guru Tegh Bahadur

  (D) Guru Gobind Singh

  (E) Not attempted

30. (A) iatks[kjk lkfgc xq#}kjk (vEckyk) Jh gj 
fd'ku lkfgc th dh Le`fr dks lefiZr 
gSA Jh fd'ku lkfgc th fnYyh tkus 
okys jkLrs ij ;gk¡ dqN le; ds fy, 
#ds Fks] mUgha dh Le`fr esa bl xq#}kjs 
dk fuekZ.k djok;k x;k FkkA ;g xq#}kjk  
vackyk-ukjk;.kx<+ jksM ij fLFkr gSA 
xq# us fdjriqj ls iatks[kjk rd viuh 
;k=k ds nkSjku jksij] cuwj] jk;iqjk vkSj 
vackyk ls ;k=k dh FkhA

31. fuEu esa ls dkSu ^gfj;k.kk gfjdsu* ds uke ls 
tkus tkrs gSa\

  (A) dfiy nso (B) ealwj vyh

  (C) fotsUæ flag (D) lq'khy dqekj

  (E) mÙkj ugha nsuk pkgrs

  Who among the following is known as 

the 'Haryana Hurricane'?

  (A) Kapil Dev (B) Mansoor Ali

  (C) Vijendra Singh (D) Sushil Kumar

  (E) Not attempted

31. (A) ● dfiy nso gfj;k.kk gfjdsu ds uke ls 
tkus tkrs gSaA

	 	 	 ●	os ,d iwoZ Hkkjrh; fØdsVj gSa vkSj 

mudk iwjk uke dfiy nso jkeyky 

fu[kat gSA mUgksaus o"kZ 1983 esa fØdsV 

fo'o di VªkWQh thrus okyh Hkkjrh; 

fØdsV Vhe dh dIrkuh (usr`Ro) dh FkhA 

os ,d gjQuekSyk f[kykM+h Fks og nk,¡ 

gkFk ds cYysckt vkSj nk,¡ gkFk ds rst 

xsanckt FksA os o"kZ 1994 esa lsokfuo`Ùk 

gq, FksA
   ● os vDVwcj] 1999 vkSj vxLr] 2000 

ds chp Hkkjr dh jk"Vªh; fØdsV Vhe 
ds dksp Hkh jgsA

32. gfj;k.kk ls vkus okyh fueZy xqfy;k dk lEcU/k 
fdl [ksy ls gS\

  (A) gSaMckWy

  (B) gkWdh

  (C) ftEusfLVDl@dljr

  (D) twMks

  (E) mÙkj ugha nsuk pkgrs

  Nirmal Gulia from Haryana is associated 

with which sport?

  (A) Handball (B) Hockey

  (C) Gymnastics (D) Judo

  (E) Not attempted

32. (C) gfj;k.kk ls vkus okyh fueZy xqfy;k dk 
laca/k ftEusfLVd [ksy ls gSA [ksyks bafM;k 
dk;ZØe ds rgr gfj;k.kk jkT; ls 20 

fteukLV f[kykfM+;ksa dk p;u fd;k x;k 
gS] gfj;k.kk esa fteukLV gkWy LVsfM;e 
vEckyk esa fLFkr gSA

33. fuEufyf[kr esa ls gfj;k.kk ds fdl O;fDr dks 
lkekftd dk;Z ds {ks= esa 2022 dk ^iùJh* 
lEeku iznku fd;k x;k\

  (A) j?kqosaæ raoj (B) eksrhyky enku

  (C) uhjt pksiM+k (D) vkse izdk'k xka/kh

  (E) mÙkj ugha nsuk pkgrs

  Who among the following personalities 

from Haryana received the Padma Shri 

in	2022	in	the	昀椀eld	of	Social	Work?
  (A) Raghuvendra Tanwar

  (B) Moti Lal Madan

  (C) Neeraj Chopra

  (D) Om Prakash Gandhi

  (E) Not attempted

33. (D) ● gfj;k.kk ds vkse çdk'k xka/kh dks 
lkekftd dk;Z ds {ks= esa 2022 dk 
^in~eJh* lEeku çnku fd;k x;kA 
in~eJh] Hkkjr ljdkj }kjk fn;k 
tkus okyk pkSFkk loks ZPp ukxfjd 
lEeku gS tks thou ds fofHkUu {ks=ksa 
tSls fd] dyk] f'k{kk] m|ksx] lkfgR;] 
foKku] [ksy] fpfdRlk] lekt lsok 
vkSj lkoZtfud thou vkfn esa muds 
fof'k"V ;ksxnku dks ekU;rk çnku 
djus ds fy, fn;k tkrk gSA

   ● Hkkjr ds ukxfjd iqjLdkjksa ds inkuqØe 
esa ;g pkSFkk iqjLdkj gS blls igys 
Øe'k% Hkkjr jRu] in~e foHkw"k.k vkSj 
in~e Hkw"k.k dk LFkku gSA

 fofo/k
34. gfj;k.kk esa iathÏr vVy lsok dsUæksa dh dqy 

la[;k fdruh gS\
  (A) 20,552 (B) 16,552

  (C) 17,552 (D) 18,552

  (E) mÙkj ugha nsuk pkgrs

  What is the total number of registered Atal 

Service Centres in Haryana?

  (A) 20,552 (B) 16,552

  (C) 17,552 (D) 18,552

  (E) Not attempted
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34. (B) gfj;k.kk esa iathÏr vVy lsok dsUæksa 
dh dqy la[;k 16552 gSA bu dsUæksa dk 
dk;Z euh VªkUlQj] MkVk jhpktZ] ukSdjh 
ds fy, vkWuykbu vkosnu djuk] bZ- 
fVfdfVax Nk=o`fÙk QkeZ vkfn Hkjuk gSA

35. ikuhir esa ^csVh cpkvks] csVh i<+kvks* dk 
'kqHkkjEHk fdlds }kjk fd;k x;k\

  (A) Jh jke ukFk dksfoan

  (B) Jh ujsUæ eksnh

  (C) Jh euksgj yky [kêj

  (D) Jh dIrku flag lksyadh

  (E) mÙkj ugha nsuk pkgrs

  'Beti Bachao, Beti Padho' was launched 

in Panipat by

  (A) Shri Ram Nath Kovind

  (B) Shri Narendra Modi

  (C) Shri Manohar Lal Khattar

  (D) Shri Kaptan Singh Solanki

  (E) Not attempted

35. (B) ● ikuhir esa ÞcsVh cpkvks] csVh i<+kvksß 
dk 'kqHkkjaHk ç/kkuea=h ujsUæ eksnh  
}kjk fd;k x;kA ;g ;kstuk 22 
tuojh] 2015 dks gfj;k.kk ds ikuhir 
ls 'kq: dh xbZ FkhA

   ● csVh cpkvks csVh i<+kvks ;k stuk 
(BBBP) efgyk ,oa cky fodkl 
ea=ky;] LokLF; ea=ky; vkSj ifjokj 
dY;k.k ea=ky; ,oa ekuo lalk/ku 
fodkl dh ,d la;qä igy ds :i 
esa lefUor vkSj vfHklfjr ç;klksa ds 
varxZr ckfydkvksa dks laj{k.k vkSj 
l'kä djus ds fy, 'kq: dh xbZ gSA

36. ^ykMyh lkekftd lqj{kk HkÙkk ;kstuk* 'kq: 
dh xbZµ

  (A) 1 tuojh] 2006 (B) 1 tuojh] 2005

  (C) 1 ekpZ] 2006 (D) 1 ekpZ] 2005

  (E) mÙkj ugha nsuk pkgrs

  'Ladli Social Security Allowance Scheme' 

was launched on:

  (A) 1st January, 2006

  (B) 1st January, 2005

  (C) 1st March, 2006

  (D) 1st March, 2005

  (E) Not attempted

36. (A) ● ykMyh lkekftd lqj{kk HkÙkk ;kstuk 
1 tuojh] 2006 dks 'kq: dh xbZA ;g 
;kstuk gfj;k.kk ljdkj }kjk vius 
jkT; esa Hkzw.k gR;k dks jksdus vkSj 
yM+fd;ksa dh fLFkfr dks csgrj cukus 
ds fy, 'kq: dh x;h gSA

   ● bl ;kstuk dk ykHk jkT; ds mu 
ifjokjksa dks feysxk ftleas fdlh ekrk- 
firk dk dksbZ yM+dk ugha gS ftuds 
flQZ yM+dh gSA

37. gfj;k.kk esa ;qfu;fuLV ikVhZ dh igq¡p ds foLrkj 
ds fy, 1923 esa Qty-,-gqlSu ds lkFk feydj 
fdlus ^tehankj yhx* dh LFkkiuk dh\

  (A) vCnqy x¶Qkj [kku

  (B) jko rqykjke

  (C) iafMr usdhjke 'kekZ

  (D) lj NksVw jke

  (E) mÙkj ugha nsuk pkgrs

  Who founded the 'Zamindar League' 

along with Fazl-i-Hussain in 1923 to 

spread the reach of then Unionist Party 

in Haryana?

  (A) Abdul Ghaffar Khan

  (B) Rao Tularam

  (C) Pandit Nekiram Sharma

  (D) Sir Chhotu Ram

  (E) Not attempted

37. (D) ● gfj;k.kk esa ;qfu;uLV ikVhZ dh igq¡p 
ds foLrkj ds fy, 1923 esa Qty , 
gqlSu ds lkFk feydj lj NksVw jke 
us ^tehankj yhx* dh LFkkiuk dhA

   ● lj NksVw jke dk tUe 24 uoacj] 
1881 esa gfj;k.kk ds jksgrd ftys 
ds x<+h lkaiyk xk¡o esa gqvk Fkk vkSj 
mudk cpiu dk uke jke fjNiky 
FkkA og vius Hkkb;ksa esa lcls NksVs Fks 
bl dkj.k ls mUgsa NksVw jke uke feykA  
9 tuojh] 1945 dks mudk fuèku gks 
x;k FkkA

   ● jksgrd ftys esa] muds fuokl dks ̂ uhy 
dksBh* ;k ^çse fuokl* ds :i esa tkuk 
tkrk FkkA

38. izfl¼ ys[kd /kjuh/kj us viuh iqLrd v[kaM 
izdk'k esa gfj;k.kk jkT; dks ---------- 'kCn ls 
lEcfU/kr fd;k gSA

  (A) vk;Zu (B) dq# taxy

  (C) gfjrud (D) gfjcadk

  (E) mÙkj ugha nsuk pkgrs

  The famous writer Dharnidhar in his book 

Akhand Prakash addressed the State of 

Haryana with the word ......... .

  (A) Aryana

  (B) Kuru Jangal

  (C) Haritanak

  (D) Haribanka

  (E) Not attempted

38. (D)	● çfl¼ ys[kd /kjuh/kj us viuh iqLrd 
v[kaM çdk'k esa gfj;k.kk jkT; dks 
gfjcadk 'kCn ls lacksf/kr fd;k gSA

   ● /kj.kh/kj us viuh jpuk v[k.M 
çdk'k esa fy[kk gS fd ^gfjcadk* 'kCn 
Hkxoku gfj dh iwtk Hkxoku baæ ls 
tqM+k gSA ,d vU; fopkjd] fxjh'k 
panj voLFkh bldh mRifÙk ½Xosn ls 
ekurs gSa] ftlesa gfj;k.kk uke dks jktk 
(oklqjktk) ds uke ds lkFk lkoZukfed 
fo'ks"k.k ds :i esa ç;ksx fd;k x;k gSA

39. gfj;k.kk dk dkSu-lk ftyk ̂ lqjkgh* (iryh xnZu 
okyk ?kM+k) ds fy, izfl¼ gS\

  (A) Qrsgkckn (B) xq#xzke

  (C) jsokM+h (D) >Ttj

  (E) mÙkj ugha nsuk pkgrs
  Which district is famous for 'Surahi' slim 

necked pitcher) in Haryana?

  (A) Fatehabad (B) Gurugram

  (C) Rewari (D) Jhajjar

  (E) Not attempted

39. (B)	● gfj;k.kk dk >Ttj ftyk ^lqjkgh* 
(iryh xnZu okyk ?kM+k) ds fy, çfl¼ 
gSA lqjkgh crZu dk iz;ksx izk;% xehZ ds 
fnuksa esa ikuh dks BUMk j[kus ds fy, 
fd;k tkrk gS] ;g feV~Vh ls cuk vkSj 
vkx esa idk;k gqvk crZu gS] ftls izk;% 
xjhc yksxksa dk fÝt dgk tkrk gSA

40. gfj;k.kk jkT; ds igys vukt , Vh ,e 
(vUuiwfrZ) dh LFkkiuk fdl ftys esa gqbZ\

  (A) iapdqyk (B) lksuhir

  (C) xq#xzke (D) ;equkuxj

  (E) mÙkj ugha nsuk pkgrs

  The first Grain ATM (Annapurti) of 

Haryana State has been set up in which 

district?

  (A) Panchkula (B) Sonipat

  (C) Gurugram (D) Yamunanagar

  (E) Not attempted

40. (B)	● gfj;k.kk jkT; ds igys vukt , Vh ,e 
(vUuiwfrZ) dh LFkkiuk xq#xzke  ftys 
esa gqbZA

   ● Grain ATM Machine cSad esa yxs 
ATM e'khu dh rjg vkWVksesfVd 
rjhds ls dke djrh gSA vukt ,Vh,e 
ls 5 feuV esa nks cksjh ;kuh 70 fdyks 
vukt dks fudkyk tk ldrk gSA bl 
çdkj ds ,Vh,e dh çfØ;k ds 'kq: gksus 
ls jk'ku fMiks gksYMjksa ds Åij dke 
dk cks> de gksxk vkSj os vklkuh ls 
jk'ku dk forj.k dj ldsaxsA
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xf.kr

 la[;k i¼fr
41. ;fn [p], p ls de ;k p ds cjkcj cM+s-ls-cM+s 

iw.kk±d dks n'kkZrk gS] rks 
1 2

4 [2]
2 5

   − + +        
cjkcj gSµ 

  (A) 6 (B) 3

  (C) 4 (D) 5

  (E) mÙkj ugha nsuk pkgrs

  If [p] denotes the greatest integer less 

than equal to p, then 
1 2

4 [2]
2 5

   − + +        

is equal to:

  (A) 6 (B) 3

  (C) 4 (D) 5

  (E) Not attempted

41. (A) fn;k gS] 
   [p], p ls de ;k p ds cjkcj gSA

   vr% 
1 2

4 [2]
2 5

   − + +      
   Þ [– 0.5] + [4.4] + [2]

   Þ 0 + 4 + 2

   Þ 6

42. ,d yM+ds dks ,d la[;k dks 25 ls xq.kk djus 
dks dgk x;kA xyrh ls] mlus la[;k dks 52 ls 
xq.kk dj fn;k ftlls mldk xq.kuQy] lgh 
xq.kuQy ls 324 vf/kd izkIr gqvkA xq.kk djus 
okyh la[;k Fkhµ

  (A) 52 (B) 12

  (C) 15 (D) 25

  (E) mÙkj ugha nsuk pkgrs
  A boy was asked to multiply a certain 

number 25. He, by mistake, multiplied the 

number by 52 and got the product which 

was greater than correct product by 324. 

The number to multiplied was:

  (A) 52 (B) 12

  (C) 15 (D) 25

  (E) Not attempted

42. (B) ekuk la[;k x gSA
   iz'ukuqlkj] 
   Þ 52x – 25x = 324

   Þ 27x = 324

   Þ x = 12

43. ;fn n dksbZ izkÏr la[;k gS] rks cM+h-ls-cM+h 
la[;k dkSu-lh gS ftlls (n3 – n) lnSo 
foHkkftr gS\

  (A) 18 (B) 3

  (C) 6 (D) 12

  (E) mÙkj ugha nsuk pkgrs

  If n be any natural number, then by 

which greatest number is (n3 – n) always 

divisible?

  (A) 18 (B) 3

  (C) 6 (D) 12

  (E) Not attempted

43. (C) fn;k gS]
   (n3 – n)

   n = 2, j[kus ij
   Þ 23 – 2

   Þ 8 – 2

   Þ 6

 vkSlr
44. ,d izkÏr la[;kvksa dh lwph esa 15 feykus 

ij] ek/; 2 ls c<+ tkrk gSA bl ubZ lwph eas 1 

feykus ij] la[;kvkssa dk ek/; 1 ls ?kV tkrk 
gSA okLrfod lwph esa dqy fdruh la[;k,¡ gSa\

  (A) 8 (B) 4

  (C) 5 (D) 6

  (E) mÙkj ugha nsuk pkgrs

  When 15 is included in a list of natural 

numbers, their mean is increased by 2. 

When 1 is uncluded in this new list, the 

mean of the numbers in the new list is 

decreased by 1. How many numbers were 

there in the original list?

  (A) 8 (B) 4

  (C) 5 (D) 6

  (E) Not attempted

44. (B) ekuk] okLrfod lwph esa la[;k,¡ n gaS vkSj 
mudk ek/; X gSA

   rc n la[;kvksa dk ;ksx = n X 
   iz'ukuqlkj]

   Þ  
[ 15]

( 1)

nX

n

+
+

 

= X + 2

   Þ  nX + 15 = (n + 1)(X + 2)

   Þ  2n + X = 13 ...(i)

   iqu% 
[ 15 1]

( 2)

nX

n

+ +
+  

= (X + 2) – 1

   Þ  nX + 16 = nX + n + 2X + 2

   Þ  n + 2X = 14 ...(ii)

   X dk eku leh- (i) ls j[kus ij]
    X = 13 – 2n

    n + 2(13 – 2n) = 14

    n + 26 – 4n = 14

    3n = 12

    n = 4 

   okLrfod lwph esa dqy 4 la[;k,¡ gSaA

 vuqikr ,oa lekuqikr
45. y, (x + 3) ds lekuqikrh gS rFkk y = 8 gS tc x 

= 1 gSA x = 2 ds fy, y dk eku D;k gS\
  (A) 16 (B) 6

  (C) 10 (D) 12

  (E) mÙkj ugha nsuk pkgrs

  y varies directly proportional to (x + 3) 

and y = 8 when x = 1. What is the value 

of y when x = 2?

  (A) 16 (B) 6

  (C) 10 (D) 12

  (E) Not attempted

45. (C) fn;k gS]
    y µ (x + 3)

    y = k(x + 3) ...(i)

   (k ,d fu;rkad gS)

   iz'u ls] 8 = k(1 + 3)

    k = 2

   leh- (i) ls] y = k(x + 3) 

    y = 2(2 + 3)

    y = 10

46. N% la[;k,¡ a, b, c, d, e, f  bl izdkj gSa fd ab 

= 1, bc = 
1

2
, cd = 6, de = 2 rFkk ef = 

1

2  

gSA (ad : be : cf) dk eku D;k gS\
  (A) 72 : 1 : 9 (B) 4 : 3 : 27

  (C) 6 : 1 : 9 (D) 8 : 9 : 9

  (E) mÙkj ugha nsuk pkgrs

  Six numbers a, b, c, d, e, f are such that 

ab = 1, bc = 
1

2
, cd = 6, de = 2 and ef = 

1

2
. What is the value of (ad : be : cf)?

  (A) 72 : 1 : 9 (B) 4 : 3 : 27

  (C) 6 : 1 : 9 (D) 8 : 9 : 9

  (E) Not attempted

46. (A) fn;k gS]

    ab = 1, bc = 
1

2

    cd = 6, de = 2, ef = 
1

2

   rFkk ad = 
abcd

bc

     = 
1 6

12
1

2

×
=

 
 
 

    be = 
bcde

cd

     = 

1
2

12

6 6

×
=

    cf = 
cdef

de

     = 

1
6

32

2 2

×
=
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   vHkh"V vuqikr]

   Þ 
1 3

12 : :
6 2

   Þ 72 : 1 : 9 

 izfr'krrk
47. ,d O;fä viuh vkenuh dk 75% [kpZ djrk 

gSA mldh vkenuh 20% c<+ tkrh gS rks og 
vius [kpsZ esa Hkh 10% dh c<+ksrjh dj ysrk gSA 
mldh cpr esa c<+ksrjh gksxhµ

  (A) 50% (B) 10%

  (C) 25% (D) 
1

37 %
2

  (E) mÙkj ugha nsuk pkgrs

  A man spends 75% of his income. His 

income is increased by 20% and he thus 

also increased his expenditure by 10%. 

His savings increased by:

  (A) 50% (B) 10%

  (C) 25% (D) 
1

37 %
2

  (E) Not attempted

47. (A) ekuk]  vkenuh = x

    [kpkZ = 0.75x

    cpr = 0.25x 

   vkenuh 20% c<+us ij = 
20

100
x x+ ×

     = 1.2x

   [kpZ 10% c<+us ij = 0.75x + 0.75x 

×
 

10

100  
= 0.825x

    u;h cpr = vkenuh – [kpkZ
     = 1.2x – 0.825x

     = 0.375x

    cpr esa izfr'kr o`f¼ 

    
=

 

0.375 0.25
100

0.25

x x

x

−
×

   = 50%

48. A dh vkenuh dk 5%, B dh vkenuh ds 15% 

ds cjkcj gS vkSj B dh vkenuh dk 10%, C 

dh vkenuh ds 20% ds cjkcj gSA ;fn C 

dh vkenuh `2,000 gS] rks A, B rFkk C dh 
vkenuh dk ;ksxQy (` esa) gSµ

  (A) 18,000 (B) 6,000

  (C) 9,000 (D) 12,000

  (E) mÙkj ugha nsuk pkgrs

  5% income of A is equal to 15% income 

of B and 10% income of B is equal to 20% 

income of C. If income of C is `2,000, 

then the sum of the incomes (in `) of A, 

B and C is:

  (A) 18,000 (B) 6,000

  (C) 9,000 (D) 12,000

  (E) Not attempted

48. (A) iz'ukuqlkj]
    A dk 5% = B dk 15%

    A = 3B

    A : B = 3 : 1 ...(i)

   rFkk] nwljh 'krZ ls]

    B dk 10% = C dk 20%

    B = 2C

    B : C = 2 : 1 ...(ii)

   (i) rFkk (ii) ls]

    A : B : C = 6 : 2 : 1

    A = 6x

    B = 2x

    C = x

   iz'ukuqlkj] x = `2000 

   dqy vkenuh] 6x + 2x + x

   Þ 9x

   Þ 9 × 2000

   Þ `18000

 ykHk&gkfu ,oa cV~Vk
49. ik¡p larjs `10 ds Hkko ls [kjhn dj N% larjs 

`15 ds Hkko ij csps x,A ykHk izfr'kr gSµ
  (A) 50% (B) 25%

  (C) 35% (D) 40%

  (E) mÙkj ugha nsuk pkgrs

  Oranges are bought at 5 for `10 and sold 

at 6 for `15.	The	pro昀椀t	percent	is:
  (A) 50% (B) 25%

  (C) 35% (D) 40%

  (E) Not attempted

49. (B)  5 larjs = `10

    1 larjs = 
10

5

`

 

   1 larjs dk Ø; ewY; = `2

   rFkk]  6 larjs = `15

   foØ; ewY;] 1 larjs = `2.5

   ykHk % = 100
−

×
fo-ew- Ø-e-w

Ø-ew-

   = 
2.5 2

100
2

−
×

   = 
.5

100
2

×

   = 25%

50. ,d nw/k okys us nw/k esa dqN ikuh feyk;k ftlls 
mls feJ.k dks Ø; ewY; ij cspus ij 25% 

ykHk gksA feJ.k eas Øe'k% ikuh rFkk nw/k dh 
ek=k esa vuqikr gSµ

  (A) 1 : 4 (B) 5 : 4

  (C) 4 : 5 (D) 1 : 5

  (E) mÙkj ugha nsuk pkgrs

  A milkman mixed some water with milk 

to gain 25% by selling the mixture at the 

cost price. The ratio of water and milk, 

respectively, in the mixture is:

  (A) 1 : 4 (B) 5 : 4

  (C) 4 : 5 (D) 1 : 5

  (E) Not attempted

50. (A) Short trick,

                     nw/k  % ikuh 
   Þ 100% : 25%

   Þ 4 : 1

   ikuh rFkk nw/k dk vuqikr = 1 : 4

 lk>snkjh
51. A us `85,000 yxkdj ,d O;kikj vkjEHk 

fd;kA dqN le; ds i'pkr~ `42,500 dss lkFk 
B bl O;kikj esa fey x;kA ;fn o"kZ ds vUr esa 
ykHk 3 : 1 ds vuqikr esa ck¡Vk x;k] rks B fdrus 
le; ds fy, lk>snkj jgk\

  (A) 8 ekl (B) 4 ekl

  (C) 5 ekl (D) 6 ekl

  (E) mÙkj ugha nsuk pkgrs

  A began a business with ̀ 85,000. He was 

joined afterwards by B with `42,500. 

For how much period does B join, if the 

pro昀椀ts	at	the	end	of	the	year	are	divided	
in the ratio 3 : 1? 

  (A) 8 months (B) 4 months

  (C) 5 months (D) 6 months

  (E) Not attempted

51. (A)                     A              B

   ykHk = 85,000 × 12 : 42,500 × (12 – t)

   iz'ukuqlkj] 
   Þ 3 : 1 = 850 × 12 : 425 × (12 – t)

   Þ 3 × 425 (12 – t) = 850 × 12

   Þ 3 × (12 – t) = 24

   Þ 12 – t = 8

   Þ t = 4 eghus
   vr% B, 12 – 4 = 8 eghus O;kikj esa 

lk>hnkj jgkA

 le; vkSj dk;Z
52. A ,d dk;Z dks 15 fnu esa rFkk B mlh dk;Z 

dks 20 fnu esa iwjk dj ldrk gSA ;fn og nksuksa 
fey dj ml dk;Z dks 4 fnu rd djrs gSa] rks 
dk;Z dk fdruk Hkkx ckdh jg tkrk gS\

  (A) 
8

15  
(B)

 

1

4

  (C) 
1

10  
(D)

 

7

15

  (E) mÙkj ugha nsuk pkgrs
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  A can do a work in 15 days and B in 20 

days. If they work on it together for 4 

days, then the fraction of work that is left, 

is:

  (A) 
8

15  
(B)

 

1

4

  (C) 
1

10  
(D)

 

7

15

  (E) Not attempted

52. (A) A dk ,d fnu dk dk;Z = 
1

15

   B dk ,d fnu dk dk;Z = 
1

20  

   4 fnu esa] A rFkk B }kjk feydj fd;k 

x;k dk;Z = 
1 1

4
15 20

 + × 
   

   = 
12 9

4
180

+  × 
    

= 
21

45

   = 
7

15  

   'ks"k dk;Z = 
7 8

1
15 15

− =
 
Hkkx

 lk/kkj.k C;kt

53. ;fn fdlh /kujkf'k ij 
1
7 %
2  

okf"kZd nj ls 

15 ekl dk lk/kkj.k C;kt] mlh /kujkf'k ij 
1

12 %
2  

okf"kZd nj ij 8 ekl ds lk/kkj.k C;kt 

ls `32.50 vf/kd gS] rks /kujkf'k (` esa) gSµ
  (A) 3,250 (B) 3,000

  (C) 3,060 (D) 3,120

  (E) mÙkj ugha nsuk pkgrs

  If the simple interest on a certain sum for 

15 months at 
1
7 %
2  

per annum exceeds 

the simple interest on the same sum for 8 

months at 
1

12 %
2  

per annum, by ̀ 32.50, 

then the sum (in `) is:

  (A) 3,250 (B) 3,000

  (C) 3,060 (D) 3,120

  (E) Not attempted

53. (D) iz'ukuqlkj] ekuk /kujkf'k `x gSA

   Þ 
15 15 25 8

100 2 12 100 2 12

x x× × × ×
−

× × × ×
     = `32.50

   Þ  
3

32 12

x x
−

 
= `32.50

    
9 8

96

x x−

 
= `32.50

    
x = 32.50 × 96

    x = `3120

 le;] pky ,oa nwjh
54. ,d cl tks 24 eh-@ls- dh xfr ls tk jgh gS 

3 eh-@ls- izfr lsdaM dh xfr ls /kheh gksuk 
izkjEHk djrh gSA #dus ls igys ;g fdruh nwjh 
r; dj ysxh\

  (A) 96 eh- (B) 108 eh-

  (C) 60 eh- (D) 72 eh-

  (E) mÙkj ugha nsuk pkgrs

  A bus moving at a speed of 24 m/s begins 

to slow at a rate of 3 m/s each second. 

How far does it go before stopping?

  (A) 96 m (B) 108 m

  (C) 60 m (D) 72 m

  (E) Not attempted

54. (B) iz'ukuqlkj] cl izfr lsd.M 3 eh-@ls- ls 
/khek gksrh gSA

   24, 21, 18, 15, 12, 9, 6, 3

   lw=]  S
n
 = [2 ( 1) ]
2

n
a n d+ −

 
ls]

     

= 8[2 24 (8 1) ( 3)]
2

× + − × −

   ( d = T
2
 – T

1
 = 21 – 24 = – 3)

     = 4[48 – 21]

     = 4 × 27

     = 108 m

 leryh; vkÏfr;ksa dk {ks=Qy
55. ,d vk;r dh yEckbZ rFkk pkSM+kbZ esa Øe'k% 3 

: 2 dk vuqikr gS tcfd blds ifjeki rFkk 
{ks=Qy esa 5 : 9 dk vuqikr gSA vk;r dh pkSM+kbZ 
(ehVj esa) gSµ

  (A) 13 (B) 6

  (C) 8 (D) 9

  (E) mÙkj ugha nsuk pkgrs

  The ratio of length and breadth of a 

rectangle is 3 : 2 respectively. The ratio of 

its perimeter and area is 5 : 9. The breadth 

of the rectangle (in metres) is :

  (A) 13 (B) 6

  (C) 8 (D) 9

  (E) Not attempted

55. (B) fn;k gS]
   yEckbZ vkSj pkSM+kbZ dk vuqikr = 3 : 2

   ifjeki vkSj {ks=Qy dk vuqikr = 5 : 9

   rc vk;r dh yEckbZ = 3x

    pkSM+kbZ = 2x

   vc vk;r dk ifjeki = 2(3x + 2x)

             = 10x

              vk;r dk {ks=Qy = 3x + 2x = 6x2

   iz'ukuqlkj] 

    
2

10

6

x

x  
= 
5

9

    

5

3x  
= 
5

9

    x = 3 

    vk;r dh pkSM+kbZ = 2 × 3 = 6 eh-  

rdZ'kfDr

 vaxzsth o.kZekyk ijh{k.k
56. uhps fn, x, 'kCn ds o.kks± dk iz;ksx djds cuk, 

tk ldus okys 'kCn dks Kkr dhft,A
  CONSOLIDATE

  (A) DETAIL (B) NASAL

  (C) LOCAL (D) LENTIL

  (E) mÙkj ugha nsuk pkgrs

  Find out the word which can be formed 

by using the letters of the given word.

  CONSOLIDATE

  (A) DETAIL (B) NASAL

  (C) LOCAL (D) LENTIL

  (E) Not attempted

56. (A) 'DETAIL' ds lHkh v{kj fn;s x;s 'kCn 
'CONSOLIDATE' esa ekStwn gaSA

   vr% fodYi (A) lgh gSA

57. ,sls la[;k la;kstu dk p;u dhft, ftlds 
vuqlkj v{kjksa dks O;ofLFkr fd, tkus ls ,d 
lkFkZd 'kCn cuk;k tk ldsµ

  N T E R O M

  1  2  3 4  5  6

  (A) 6, 5, 4, 3, 2, 1 (B) 2, 5, 6, 3, 1, 4

  (C) 6, 3, 2, 1, 4, 5 (D) 6, 3, 1, 2, 5, 4

  (E) mÙkj ugha nsuk pkgrs

  Select the combination of numbers so that 

the letters arranged accordingly will form 

a meaningful word :

  N T E R O M

  1  2  3 4  5  6

  (A) 6, 5, 4, 3, 2, 1 (B) 2, 5, 6, 3, 1, 4

  (C) 6, 3, 2, 1, 4, 5 (D) 6, 3, 1, 2, 5, 4

  (E) Not attempted

57. (D) 

6

¯

M

3

¯

E

1

¯

N

2

¯

T

5

¯

O

4

¯

R

   vr% 631254 lgh la;kstu gS ftlds 
vuqlkj v{kjksa dks O;ofLFkr fd;s tkus 
ij lkFkZd 'kCn cuk;k tk ldsA

 lkadsfrd Hkk"kk ijh{k.k
58. fuEufyf[kr lkj.kh esa v{kj vkSj muds la[;k 

dwV fn, x, gSaµ
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v{kj E X P M R S T

la[;k dwV 1 2 4 7 9 3 5

  vkidks ;g irk yxkuk gS fd fuEufyf[kr esa 
ls dkSu-lk fodYi 'EMRS' dk lgh dwVc¼ 
:i gSA

  (A) 1937 (B) 1793

  (C) 1973 (D) 1925

  (E) mÙkj ugha nsuk pkgrs

  Letter and their number codes are given 

in the following table :

Letter E X P M R S T

Number 

code

1 2 4 7 9 3 5

  You have to find out which of the 

alternatives has the correct coded form 

of 'EMRS'.

  (A) 1937 (B) 1793

  (C) 1973 (D) 1925

  (E) Not attempted

58. (B) lkj.kh esa v{kjkas vkSj la[;k dwV fn;s x;s 
gSaA

   bl izdkj]

E

¯

1

M

¯

7

R

¯

9

S

¯

3

59. ;fn fdlh dwV Hkk"kk es a MANGO dks 
13114715 ds :i esa dwVc¼ fd;k tkrk gS] 
rks mlh dwV Hkk"kk esa FIGHT dks fdl izdkj 
ls dwVc¼ fd;k tk,xk\

  (A) 697620 (B) 696819

  (C) 697819 (D) 697820

  (E) mÙkj ugha nsuk pkgrs

  If MANGO is coded as 13114715 in a 

certain code language, then how will 

FIGHT be coded in that same code 

language?

  (A) 697620 (B) 696819

  (C) 697819 (D) 697820

  (E) Not attempted

59. (D) ftl izdkj]

M

¯

13

A

¯

1

N

¯

14

G

¯

7

O

¯

15

   mlh izdkj]

F

¯

6

I

¯

9

G

¯

7

H

¯

8

T

¯

20

   uksVµv{kjksa ds dwV mudh Øekad la[;k 
gSA

lkn`';rk ijh{k.k
60. ,sls lgh fodYi dk p;u dhft, ftlesa pkSFkk 

in rhljs in ls mlh izdkj ls lEcfU/kr gks 

tSls fd nwljk in igys in ls lEcfU/kr gSµ

  -HksM+ % eseuk %% frryh % \

  (A) fuEQ (B) es<d dk cPpk

  (C) ykjok (D) bYyh
  (E) mÙkj ugha nsuk pkgrs

  Choose the correct alternative which is 

related to the third term in the same way 

as	the	second	term	is	related	to	the	昀椀rst	
term:

  Sheep	:	Lamp	::	Butter昀氀y	:	?
  (A) Nymph (B) Tadpole

  (C) Larva (D) Caterpillar

  (E) Not attempted

60. (D) ftl izdkj] HksM+ ds cPps dks eseuk dgrs 
gaSA mlh izdkj frryh bYyh ls curh gSA

   vr% fodYi (D) lgh gSA

61. ,sls lgh fodYi dk p;u dhft, ftlesa ;qXe ds 
nks in uhps fn, x, ;qXe dh rjg lEcfU/kr gksa%

  A
1
B

2
 : C

3
D

4

  (A) G
15

H
16

 : I
17

J
18

 (B) W
5
X

6
 : Y

7
Z

8

  (C) P
16

Q
17

 : R
18

S
19

 (D) M
11

N
12

 : O
13

P
14

  (E) mÙkj ugha nsuk pkgrs

  Choose the correct option in which two 

terms of the pair are related in the same 

way as in the pair given below:

  A
1
B

2
 : C

3
D

4

  (A) G
15

H
16

 : I
17

J
18

 (B) W
5
X

6
 : Y

7
Z

8

  (C) P
16

Q
17

 : R
18

S
19

 (D) M
11

N
12

 : O
13

P
14

  (E) Not attempted

61. (C) ftl izdkj]
   A

1
B

2
 : C

3
D

4

   A dk Øekad 1] B dk Øekad 2] C dk 
Øekad 3 vkSj D dk Øekad 4 gSA

   mlh izdkj] 
   P

16
Q

17
 : R

18
S

19

   P dk Øekad 16] Q dk 17] R dk 18 

vkSj S dk 19 gSA

 oxhZdj.k
62. fuEufyf[kr esa ls dkSu-lk fHkUu gS\
  (A) 9, 18, 27 (B) 6, 9, 18

  (C) 7, 14, 21 (D) 8, 16, 24

  (E) mÙkj ugha nsuk pkgrs

  Find the odd one out.

  (A) 9, 18, 27 (B) 6, 9, 18

  (C) 7, 14, 21 (D) 8, 16, 24

  (E) Not attempted

62.  (B) (A)    9         18         27

            ¯          ¯           ¯

         9 × 1     9 × 2      9 × 3

   (B)    6          9          18

            ¯          ¯           ¯

         3 × 2     3 ×3      3 × 6

   (C)    7         14         21

            ¯          ¯           ¯

         7 × 1     7 × 2      7 × 3

   (D)    8         16         24

            ¯          ¯           ¯

         8 × 1     8 × 2      8 × 3

   vr% fodYi (B) 6, 9, 18 fHkUu gSA

63. fuEufyf[kr esa ls dkSu-lk in fHkUu gS\
  (A) ZERO (B) CARE

  (C) PALE (D) STAR

  (E) mÙkj ugha nsuk pkgrs

  Find the odd one out.

  (A) ZERO (B) CARE

  (C) PALE (D) STAR

  (E) Not attempted

63. (D) Z E R O
 ® E vkSj O nks Loj gSaA

   C A R E  ® A vkSj E nks Loj gaSA

   P A L E  ® A vkSj E nks Loj gSaA

   ST A R ® A ,d Loj gSA

   vr% fodYi (D) fHkUu gSA

 jDr lEcU/k
64. ,d vkSjr dh vksj b'kkjk djrs gq, jktk us 

dgk] ßog ml efgyk dh iq=h gS tks esjh ekrk 
ds ifr dh ek¡ gSÞA jktk dk ml vkSjr ls D;k 
lEcU/k gS\

  (A) cgu (B) cqvk

  (C) iq=h (D) HkkHkh
  (E) mÙkj ugha nsuk pkgrs

  Pointing out to a lady, Raja said, "She 

is the daughter of the women who is the 

mother of the husband of my mother". 

How is lady related to Raja?

  (A) Sister (B) Aunt

  (C) Daughter (D) Sister-in-law

  (E) Not attempted

64. (B) 

ekrk ifr vkSjr

ek¡

jktk

   og vkSjr jktk ds firk dh cgu yxsxhA 
vr% Li"V gS fd vkSjr jktk dh cqvk gSA

 Ük`a[kyk ijh{k.k
65. fuEufyf[kr la[;k Ük`a[kyk esa iz'u fpÊ (\) ds 

LFkku ij dkSu-lh la[;k vk,xh\

  99, 80, 63, ?, 35, 24, 15, 8, 3, 0

  (A) 42 (B) 38

  (C) 58 (D) 48

  (E) mÙkj ugha nsuk pkgrs
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  What will come in place of the question 

mark (?) in the following number series?

  99, 80, 63, ?, 35, 24, 15, 8, 3, 0

  (A) 42 (B) 38

  (C) 58 (D) 48

  (E) Not attempted

65. (D) Ük`a[kyk dk Øe fuEu izdkj gSµ

   

99

(10) – 1
2

80

(9) – 1
2

63

(8) – 1
2

48

(7) – 1
2

35

(6) – 1
2

24

(5) – 1
2

15

(4) – 1
2

8

(3) – 1
2

3

(2) – 1
2

0

(1) – 1
2

   vr% ? ds LFkku ij 48 la[;k vk;sxhA

66. fuEufyf[kr la[;kRed Ükà[kyk esa iz'u fpÊ (\) 
ds LFkku ij dkSu-lh la[;k vk,xh\

  14, 19, 35, 59, ?, 179, 299

  (A) 129 (B) 131

  (C) 130 (D) 132

  (E) mÙkj ugha nsuk pkgrs

  What will come in place of the question 

mark (?) in the following numerical 

series?

  14, 19, 35, 59, ?, 179, 299

  (A) 129 (B) 131

  (C) 130 (D) 132

  (E) Not attempted

66. (B) Ük`a[kyk dk Øe fuEu izdkj gSµ

   

14

(2)  + 10
2

19

(3)  + 10
2

35

(5) 10
2

+

59

(7)  +
2

1

131

(11) 10
2

+

179

(13)  + 10
2

299

(17)  + 10
2

   ykWftd% ® vHkkT; la[;kvksa ds oxZ esa 
10 tksM+dj Ük`a[kyk iw.kZ dh xbZ gSA

 U;k; laxr
67. rhu dFkuksa ds ckn rhu fu"d"kZ fn, x, gSaA 

lkekU;r% Kkr rF;ksa ls fHkUu gksrs gq, Hkh dFkuksa 
dks lR; ekurs gq, ;g fu.kZ; dhft, fd rkfdZd 
:i ls dkSu-lk@ls fu"d"kZ fn, x, dFkuksa ls 
fudyrk@fudyrs gS@gSaA

  dFku %
  dqN est dqflZ;k¡ gSaA
  dqN dqflZ;k¡ iyax gSaA
  lHkh iyax dejs gSaA
  fu"d"kZ %
  I.   dqN dejs est gSaA
  II.  dqN dejs dqflZ;k¡ gSaA
  III. dqN iyax dqflZ;k¡ gSaA

  (A) dsoy II fudyrk gSA

  (B) dsoy I vkSj III fudyrs gSaA

  (C) dsoy I vkSj II fudyrs gSaA

  (D) dsoy II vkSj III fudyrs gSaA
  (E) mÙkj ugha nsuk pkgrs

  Three statements are followed by three 

conclusion. Take the statements to be true 

even if they seem to be at variance from 

the commonly known facts. Decide which 

of the given conclusion logically follow 

(s) form the given statements.

  Statements :

  Some tables are chairs.

  Some chairs are beds.

  All beds are rooms.

  Conclusion :

  I.   Some room are tables.

  II.  Some rooms are chairs.

  III. Some beds are chairs.

  (A) Only II follows.

  (B) Only I and III follow.

  (C) Only II and II follow.

  (D) Only II and III follow.

  (E) Not attempted

67.  (D)

 

est dq£l;k¡ iyax

dejs

   I. (û), II. (ü), III. (ü)

   dsoy fu"d"kZ II vkSj III vuqlj.k djrs gSaA

 cSBd O;oLFkhdj.k
68. ik¡p O;fDr ,d iafDr esa mÙkj fn'kk dh vksj 

eq¡g djds cSBs gq, gSaA lquhrk iadt ds ,dne 
nk;ha vksj cSBh gSA dey jktk ds lkFk cSBk 
gS tks fcYdqy ck;ha vksj Nksj ij cSBk gS rFkk 
rkjk dey ds lkFk ugha cSBh gSA lquhrk ds lkFk 
dkSu cSBs gSa\

  (A) jktk vkSj rkjk

  (B) dey vkSj rkjk

  (C) iadt vkSj dey

  (D) iadt vkSj rkjk
  (E) mÙkj ugha nsuk pkgrs

  Five persons are sitting in a row racing 

North. Sunita is sitting to the immediate 

right is Pankaj. Kamal is sitting next to 

Raja who is sitting on the extreme left and 

Tara is not sitting next to Kamal. Who are 

sitting adjacent to Sunita?

  (A) Raja and Tara

  (B) Kamal and Tara

  (C) Pankaj and Kamal

  (D) Pankaj and Tara

  (E) Not attempted

68. (D) O;fDr;ksa ds cSBus dk Øe fuEuor~ gSµ

   

jktk dey iadt lquhrk rkjk

   lquhrk] iadt vkSj rkjk ds lkFk cSBh gSaA

 vadxf.krh; rdZ'kfDr
69. ,d cl pkyd 'P' ls 'Q' LFkku rd 5 vyx-

vyx :V ds ckjs esa tkurk gSA og 'Q' ls 'R' 

rd 3 vyx-vyx :V rFkk 'R' ls 'S' rd 2 

vyx-vyx :V ds ckjs esa tkurk gSA og 'P' 

ls 'S' rd fdrus :V ds ckjs esa tkurk gS\
  (A) 16 (B) 10

  (C) 20 (D) 30

  (E) mÙkj ugha nsuk pkgrs

  A	bus	driver	knows	昀椀ve different routes 
from a place 'P' to 'Q'. Form 'Q' to 'R' he 
knows three different routes and from 'R' 
to 'S' he knows two different routes. How 
many routes does he know form 'P' to 'S'?

  (A) 16 (B) 10

  (C) 20 (D) 30

  (E) Not attempted

69. (B) P ls Q rd 5 vyx-vyx :V tkurk 
gS] Q ls R 3 vyx-vyx :V tkurk 
gS] R ls S nks vyx-vyx :V tkurk 
gSA bl izdkj P ls S 10 vyx-vyx 
:V ds ckjs esa tkurk gSA

 fLFkfr izfrfØ;k ijh{k.k
70. tc vki fdlh ,sfrgkfld LFky dk nkSjk djrs 

gSa] rks vki iz;Ru djrs gSaµ

  (A) ek= ,d LFkku ls nwljs LFkku ij ?kwedj 
le; O;rhr djukA

  (B) vius fe=ksa ds lkFk vkuan ysukA

  (C) fMtkbu ds lkaLÏfrd vFkok lkekftd 
igyw dk irk yxkukA

  (D) QksVks ysuk vkSj ,d uhjl thou ls 
varjky dk vkuUn ysukA

  (E) mÙkj ugha nsuk pkgrs

  When you visit any historical place, you 

try to:

  (A) just pass time moving form one 

place.

  (B) just enjoy with your friends.

  (C) explore the cultural or social aspect 

of design.

  (D) take picture and enjoy a break from 

monotonous life.

  (E) Not attempted

70. (C) ,sfrgkfld LFky dk nkSjk djrs le; ge 
fMtkbu ds lkaLÏfrd vFkok lkekftd 
igyw dk irk yxkus dk iz;Ru djrs gaSA

   vr% fodYi (C) lgh gSA
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fgUnh

 o.kZ fopkj
71. fuEufyf[kr fodYiksa esa ls orZuh dh n`f"V ls 

'kq¼ 'kCn dk p;u dhft,A

  (A) lkalkfjd (B) fuisZ{k

  (C) v/;u (D) oklrfod

  (E) mÙkj ugha nsuk pkgrs

71. (A) fodYi (A) esa fn;k x;k 'kCn ^lkalkfjd* 
'kCn orZuh dh ǹf"V ls 'kq¼ gSA ̂ lkalkfjd* 
dk vFkZ gSµykSfdd] lalkj lEcU/khA 
vU; fodYiksa esa fn, x, 'kCnksa dh 'kq¼ 
orZuh fuEuor~ gSµ

   fuisZ{kµfujis{k
   v/;uµv/;;u
   oklrfodµokLrfod

 laf/k
72. ^ladYi* esa dkSu-lh laf/k gS\
  (A) xq.k (B) nh?kZ
  (C) folxZ (D) O;atu
  (E) mÙkj ugha nsuk pkgrs

72. (D) fn, x, 'kCn ̂ ladYi* esa O;atu laf/k gSA 
^ladYi* dk laf/k foPNsn le~ $ dYi 
gksxkA

   ^e~* ds ckn fdlh oxZ dk dksbZ v{kj 
gks rks ^e~* ds cnys fodYi ls vuqLokj 
vFkok mlh oxZ dk vuqukfld o.kZ gks 
tkrk gSA

 'kCn fopkj
73. fuEufyf[kr fodYiksa esa ls 'kCn ds rRle :i 

dks igpkfu,A

  (A) cxqyk (B) cd

  (C) vkx (D) vk¡[k

  (E) mÙkj ugha nsuk pkgrs

73. (B) fodYi (B) esa fn;k x;k 'kCn ^cd* 
rRle gSA ^cd* 'kCn ^cxqyk* dk rRle 
gSA ̂ vkx* dk rRle ̂ vfXu* rFkk ̂ vk¡[k* 
dk rRle ^vf{k* gksxkA

74. ^dhfrZHkku Hkwxksy fo"k; esa vHkh vKku gSA* okD; 
esa js[kkafdr 'kCn dk milxZ Li"V dhft,A

  (A) rn~Hko] rRle vkSj fons'kh milxZ
  (B) rn~Hko milxZ
  (C) rRle milxZ
  (D) fons'kh milxZ
  (E) mÙkj ugha nsuk pkgrs

74. (C) fn, x, okD; esa js[kkafdr 'kCn ̂ vKku* 
esa ^v* milxZ gS tks fd rRle milxZ 
gSA ^v* milxZ dk vFkZ gSµughaA

 fgUnh O;kdj.k
75. cM+cM+kuk] [kV[kVkuk vkSj HkuHkukuk 'kCnksa 

esa fØ;k ds dkSu-ls izdkj ds /kkrq dk iz;ksx 
fd;k x;k gS\

  (A) vuqdj.k /kkrq (B) la;qDr /kkrq
  (C) izsj.kkFkZd /kkrq (D) ,dk{kjh /kkrq
  (E) mÙkj ugha nsuk pkgrs

75. (A) fn, x, 'kCn cM+cM+kuk] [kV[kVkuk vkSj 
HkuHkukuk esa vuqdj.k /kkrq dk iz;ksx 
fd;k x;k gSA tks /kkrq,¡ fdlh èofu 
ds vuqdj.k ij cukbZ tkrh gSa] mUgsa 
vuqdj.kkRed /kkrq dgrs gSaA

 ¥yx
76. fuEufyf[kr esa ls dkSu-lk 'kCn L=hfyax ugha gS\

  (A) lykg (B) vnkyr

  (C) nqfu;k (D) fdLlk

  (E) mÙkj ugha nsuk pkgrs

76. (D) fodYi (D) esa fn;k x;k 'kCn ^fdLlk* 
iqfYyax gSA vU; fodYiksa esa fn, x, 'kCn 
L=hfyax gSaA ̂ fdLlk* dk vFkZ gSµeux<+ar 
ckr ;k fdlh ?kVuk dk fooj.kA

 i;kZ;okph 'kCn
77. ^lezkV* ds fy, lokZf/kd mi;qDr i;kZ;okph 

'kCn dk p;u dhft,A

  (A) Hkw/kj (B) eghifr

  (C) ds'kjh (D) ekrZ.M

  (E) mÙkj ugha nsuk pkgrs

77. (B) fn, x, 'kCn ^lezkV* ds fy, lokZf/kd 
mi;qDr i;kZ;okph 'kCn ̂ eghifr* gksxkA 
lezkV ds vU; i;kZ;okph gSaµujs'k] u`i] 
Hkwi] jktk vkfnA vU; fodYiksa esa fn, 
x, 'kCnksa ds i;kZ;okph fuEuor~ gSaµ

   Hkw/kjµf'k[kj] 'kSy] vpy] ioZr] igkM+
   ds'kjhµoujkt] 'kknwZy] e`xjkt] ukgj] 

dsgfj
   ekrZ.Mµlw;Z] Hkkuq] fnudj] fnokdj] 

vkfnR;

 foyksekFkhZ 'kCn
78. ^esjs ekrk-firk ---------------- esa jgrs gSa* okD; ds 

fjDr LFkku ds fy, ^uxj* 'kCn dk lokZf/kd 
mi;qDr foykse 'kCn pqfu,A

  (A) egkuxj (B) 'kgj

  (C) xk¡o (D) dLck

  (E) mÙkj ugha nsuk pkgrs

78. (C) fn, x, okD; ds fjDr LFkku esa ^xkao* 
'kCn dk iz;ksx gksxkA ^xk¡o* 'kCn ^uxj* 
dk mi;qDr foykse 'kCn gSA

 izR;;
79. fuEufyf[kr fodYiksa esa ls izR;; ls lqesfyr 

fodYi dh igpku dhft,A

  (A) bdk = ysf[kdk] fiz;k] iqfylokyk

  (B) vu = jko.k] eksgu] Jo.k

  (C) v = pj] O;k/k] ys[kd

  (D) vkbZ = vQljh] p<+kbZ] f'kokuh

  (E) mÙkj ugha nsuk pkgrs

79. (B) fodYi (B) esa fn;k x;k fodYi izR;; 
ls lqesfyr gSA jko.k] eksgu rFkk Jo.k 
esa ^vu* izR;; gSA

 lekl
80. ^Hkjld* leLr in dk mfpr foxzg gSµ

  (A) Hkjiwj 'kfDr (B) Hkj ds 'kfDr

  (C) 'kfDr ds vuqlkj (D) iwjh 'kfDr ls

  (E) mÙkj ugha nsuk pkgrs

80. (D) fn, x, in ^Hkjld* dk mfpr foxzg 
gSµ^iwjh 'kfDr ls*A ^Hkjld* 'kCn esa 
vO;;hHkko lekl gSA vO;;hHkko lekl 
esa igyk in vO;; vkSj nwljk in laKk 
gksrk gSA leLr in esa vO;; ds vFkZ dh 
gh iz/kkurk jgrh gSA

 okD;% vax] Hksn] jpuk] inca/k ,oa fojke 
fpÊ

81. ^flikgh us pksj dks idM+kA*

  mi;qZDr lk/kkj.k okD; fdl izdkj dk okD; 
gS\

  (A) lizR;; deZdkjd lk/kkj.k okD;

  (B) iz/kku drkZdkjd lk/kkj.k okD;

  (C) viz/kku drkZdkjd lk/kkj.k okD;

  (D) vizR;; deZdkjd lk/kkj.k okD;

  (E) mÙkj ugha nsuk pkgrs

81. (B) mi;qZDr okD; iz/kku drkZdkjd lk/kkj.k 
okD; gSA ftl okD; esa dk;Z djus okyk 
iz/kku drkZ gksrk gS] mls iz/kku drkZdkjd 
dgk tkrk gSA drkZdkjd esa foHkfDr fpÊ 
^us* dk iz;ksx fd;k tkrk gSA

82. fojke-fpÊ dh n`f"V ls 'kq¼ okD; dk p;u 
dhft,A

  (A) esjh fe= tks] ,d ysf[kdk gS] vktdy 
,d iqLrd fy[k jgh gSA

   (B) esjh fe=] tks ,d ysf[kdk gS] vktdy 
,d iqLrd fy[k jgh gSA

  (C) esjh fe= tks ,d ysf[kdk gS] vktdy 
,d iqLrd fy[k jgh gSA

  (D) esjh fe= tks ,d] ysf[kdk gS] vktdy 
,d iqLrd fy[k jgh gSA

  (E) mÙkj ugha nsuk pkgrs
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82. (B) fodYi (B) esa fn;k x;k okD; ̂ esjh fe=] 
tks ,d ysf[kdk gS] vktdy ,d iqLrd 
fy[k jgh gSA* fojke fpÊ dh n`f"V ls 
lgh gSA

 okD;ka'k ds fy, ,d 'kCn
83. fuEufyf[kr ;qXeksa esa ls vlaxr ;qXe dk p;u 

dhft,A

  (A) Åij dh vksj mNkyk x;kµmfR{kIr

  (B) bfUæ;ksa dks o'k esa djus okykµbfUæ;fuxzg

  (C) viuh bPNk ls dke djus okykµbPNkpkjh@
LosPNkpkjh

  (D) ioZr ds ikl dh HkwfeµÅlj

  (E) mÙkj ugha nsuk pkgrs

83. (D) fodYi (D) esa fn;k x;k ;qXe vlaxr 
gSA fn;k x;k okD;ka'k ^ioZr ds ikl dh 
Hkwfe* ds fy, ,d 'kCn ̂ vf/kR;dk* gksxkA 
^Ålj* 'kCn ds fy, okD;ka'k gSµftl 
Hkwfe esa dqN Hkh iSnk u gksrk gksA

 eqgkojs ,oa yksdksfDr;k¡
84. ^vc iNrk, gksr D;k tc fpfM+;k pqx xbZ [ksrA*

  bl eqgkojs dk lokZf/kd mi;qDr vFkZ crkb,A

  (A) volj chr tkus ij O;FkZ iNrkuk

  (B) volj dks O;FkZ u tkus nsuk

  (C) fpfM+;k dks [ksr u pqxus nsuk

  (D) fpfM+;k dks [ksr pqxus nsuk

  (E) mÙkj ugha nsuk pkgrs

84. (A) fn;k x;k eqgkojk ^vc iNrk, gksr D;k 
tc fpfM+;k pqx xbZ [skr* dk lgh vFkZ 
gSµvolj chr tkus ij O;FkZ iNrkukA 
okD; iz;ksxµvc rd rks rqe dkepksjh 
djrs jgs] vc ukSdjh ls fudkys tkus 
ij jks jgs gksA vc iNrk, gksr D;k tc 
fpfM+;k pqx xbZ [ksrA

 vyadkj
85. fuEufyf[kr esa ls fdl fodYi esa vyaadkj 

o mlls lEcfU/kr mnkgj.k lqesfyr ugha gS\

  (A) 'ys"kµ^lqcju dks <w¡<r fQjr] dfo] 
O;fHkpkjh] pksjA*

  (B) ekuohdj.kµ^la/;k ?kuekyk dh lqanj 
vks<+s jax-fcjaxh NhaVA*

  (C) :idµßuhy ifj/kku chp lqdqekj [kqy 
jgk e`nqy-v/k[kqyk vaxA

   f[kyk gks T;ksa fctyh dk Qwy] es?kou 
chp xqykch jaxûÞ

  (D) miekµ^ihij ikr lfjl eu MksykA*

  (E) mÙkj ugha nsuk pkgrs

85. (C) fodYi (C) es a vyadkj o mlls 
lEcfUèkr mnkgj.k lgh ugha gS D;ksafd 
nh xbZ iafDr;ksa esa mRizs{kk vyadkj gSA 
^tgk¡ mies; vkSj mieku dh lekurk ds 
dkj.k mies; dh lEHkkouk ;k dYiuk 
dh tk,] ogk¡ mRizs{kk vyadkj gksrk gSA 
blesa T;ksa] tugq] tkuks] eugq] ekuks] euq 
vkfn okpd 'kCnksa dk iz;ksx fd;k tkrk 
gSA

English

 Preposition

86. Fill in the blank with the suitable preposition.

  The boy ............ red hair is my brother.

  (A) from (B) of

  (C) for (D) with

  (E) Not attempted

86. (D) fjDr LFkku esa 'with' dk iz;ksx gksxkA
   with–fdlh oLrq dks lkFk fy,] dyk] 

;qDr (ij LokfeRo dh fo'ks"krk ds vFkZ 
esa)A vr% fodYi (D) lgh gSA

 Syntax

87. Pick out the part of the following sentence 

which has an error. If there is no error, 

your answer is (D).

  One of the state in which

            A

  Satyagraha was offered was Rajkot

                      B

  where he spent his youth.

                    C

  (A) B (B) C

  (C) A (D) No error

  (E) Not attempted

87. (A) One of the state in which dh txg 
one of the states in which dk iz;ksx 
gksxk D;ksafd one of ds ckn plural 

noun/pronoun dk iz;ksx gksrk gSA

 Voice

88. Choose the correct passive voice form of 

the following sentence.

  Bring a cup of coffee.

  (A) He requests you to bring a cup of 

coffee.

  (B) You are requested to bring a cup of 

coffee.

  (C) Let a cup of coffee was brought.

  (D) Let a cup of coffee be brought.

  (E) Not attempted

88. (D) Let a cup of coffee be brought.

   okD; Active Voice, Imperative 

sentence gS okD; esa let dk iz;ksx 

dj mls okD; ds vkjEHk esa j[ksa rFkk 
passive voice cukrs le; be + past 

participle dk iz;ksx djsa is/are vkfn 
dk ughaA ,sls okD;ksa esa by you dk iz;ksx 
ugha djrs gSaA

  Narration

89. Find out the correct indirect speech of the 

following sentence.

  She said to her father, "Will you give me 

sweets"?

  (A) She has asked her father if he would 

give her sweets.

  (B) She requested her father to give her 

sweets.

  (C) She requested her father if she would 

give her sweets.

  (D) She asked her father if he would give 

her sweets.

  (E) Not attempted

89. (D) fn;k x;k Direct Speech, Interrogative 

okD; gSA bldk Indirect Speech dk 
structure fuEuor~ gksxkµ

   [sub. + ask + obj. + if/whether + 

clause (Assertive)]

   She asked her father if he would 

give her sweets.

  Sentence Improvement

90. Choose the correct alternative to improve 

the underlined part of the following 
sentence. If no improvement is required, 
your answer is (D).

  Don't judge each day by the harvest you 
reap but by the seeds that are planting.

  (A) that you plant

  (B) that will be plant

  (C) when you plant

  (D) No improvement

  (E) Not attempted

90. (A) js[kkafdr part that are planting dh 
txg that you plant dk iz;ksx gksxkA 
;g ,d proverb gS ftldk vk'k; 
gSµßizR;sd fnu dk vkdyu ml Qly 
ls djsa tks vki dkVrs gSa cfYd mu chtksa 
ls djsa tks vki cksrs gSaAÞ

 Spelling Test

91. In the following sentence, a word is 

underlined. Beneath the sentence, four 

different ways of phrasing the underlined 

word are indicated. Choose the best 

alternative among the four.

  "Despite losing a lot of money in the 

stock market crash, Suresh remained 

unphased."

	 	 (A)	 un昀椀zzled	 (B)	 unfazed
  (C) unfaced (D) unphazed

  (E) Not attempted
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91. (B) js[kkafdr 'kCn 'unphased' dh txg 
unfazed (cqjh ;k vuisf{kr ?kVukvksa ls 
vfopfyr] fuHkhZd] 'kkUr)A vr% fodYi 
(B) lgh gSA

 Synonyms

92. Pick out the synonym of the underlined 

word in the following sentence:

  The child longed for the mother's love.

  (A) refused (B) craved

  (C) shouted (D) fell

  (E) Not attempted

92. (B) js[kkafdr 'kCn longed (fdlh oLrq dh 
cgqr pkg gksuk fo'ks"kr% tc lEHkkouk 
vuqdwy u gks) dk lgh synonym 

gSµcravedA
   fellµfdlh isM+ vkfn dks dkV Mkyuk
   refusedµfdlh ckr dks ekuus ls badkj 

djuk
   shoutedµÅ¡ps Loj ;k vkokt esa cksyuk
   vr% fodYi (B) lgh gSA

 Antonyms

93. Pick out the antonym of the underlined 

work in the following sentence.

  A little learning is a dangerous thing.

  (A) smooth (B) innocuous

  (C) devilish (D) plain

  (E) Not attempted

93. (B) 'kCn dangerous (Hk;adj] [krjukd) dk 
lgh antonym gSµInnocuous (lhèkk-
lknk] vgkfudj)

   plainµLi"V] ns[kus] lquus ;k le>us 
esa vklku

   smoothµfpduk
   DevilishµcqjkbZ o Øwjrk esa ,d 'kSrku 

dh rjg
   vr% fodYi (B) lgh gSA

 Spelling Test

94. Pick out the correctly spelt word.

  (A) nuisence (B) privelege

  (C) familiar (D) usualy

  (E) Not attempted

94. (C) 'kCn familiar (lqifjfpr] tkuk-igpkuk)
   Nuisence (×)–Nuisance (ü) fo?u] 

ck/kk

   Privelege (×)–Privilege (ü ) 

fo'ks"kkfèkdkj
   Usualy (×)–Usually (ü) izk;% vke-

rkSj

95. Pick out the correctly spelt word.

  (A) intitutionalize (B) intutionalize

  (C) institutionalize (D) instutionalice

  (E) Not attempted

95. (C) 'kCn Institutionalize dh spelling lgh 
gSA Institutionalize = fdlh laxBu ;k 
laLÏfr esa ,d lEesyu ;k vkn'kZ ds 
:i esa LFkkfirA

96. Pick out the correctly spelt word.

  (A) suggession (B) sugestion

  (C) suggestion (D) suggesstion

  (E) Not attempted

96. (C) 'kCn suggestion dh spelling lgh gSA
   suggestion = ppkZ ;k fopkj gsrq dksbZ 

jk;] lq>ko ;k dksbZ ;kstuk

 Rearrangement of Sentence

97. Rearrange the following parts of a 

sentence labelled as PQRS to make a 

meaningful sentence.

  P. power to work is a blessing and

  Q. let us realize that the privilege

  R. the love of work is success

  S. to work is a gift, the

  (A) QRPS (B) SRPQ

  (C) QSPR (D) PSRQ

  (E) Not attempted

97. (C) lgh sequence gSµQSPRA
   okD; dh lajpuk Imperative sentence 

dh gS tks okD; dk Introductory 

part 'let us' ls 'kq: gksxk] next part 

'S' gksxk D;ksafd ;g subject dk (to + 

V
1
)	in昀椀nitive	iznku gSA third part 'P' 

gksxk D;ksafd 'S' part esa iz;qDr 'the' dk 
De昀椀nite	 noun	 'power'	 (V)	blesa gS 
rFkk last part 'R' gSA

Comprehension

Direction (Q.No. 98 to 100)

Read the following passage carefully and 

answer questions.

Street theatre in India is a well-established 

ancient art form. Despite the proliferation 

of modern means of entertainment and 

communication, street theatre continues to 

昀氀ourish	in	India.

Street theatre as a channel of communication 

has for centuries been propagating reforms by 

highlighting social, economic and political 

issues present in the society. Unlike in the 

olden days, its performance is no longer 

restricted to villages or small localities of 

the city. They create or raise awareness over 

a particular issue of public importance.

98. In olden days, street theatre .............. 

villages or small localities of the city.

  (A) entertained

  (B) was restricted to

  (C) was not restricted to

  (D) was opened to

  (E) Not attempted

98. (C) fjDr LFkku esa was not restricted to  dk 
iz;ksx gksxkA passage esa iz;qDr fourth 

sentence dks ns[ksaA

 Figures of Speech 

99. Modern means of entertainment and 

communication ................ street theatre.

  (A) helps establish

  (B) does affect

  (C) does not affect

  (D) helps popularise

  (E) Not attempted

99. (C) fjDr LFkku esa does not affect dk 
iz;ksx gksxkA passage esa iz;qDr second 

sentence dks ns[ksaA

100. Street theatre usually .............. with issues 

of public importance.

  (A) does not deal (B) is distanced

  (C) is performed (D) deals

  (E) Not attempted

100. (C) fjDr LFkku es a is performed dk 
iz;ksx gksxkA second	paragraph,	昀椀rst	
sentence dks ns[ksaA vkerkSj ij uqDdM+ 
ukVd lkoZtfud egRo eqn~nksa ds lkFk 
fd, tkrs FksA
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